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Question Number : 1 Question Id : 630680313563 Is Question Mandatory : No Calculator : None Response Time : N.A Think
Time : N.A Minimum Instruction Time : 0
Correct Marks : 1 Wrong Marks : 0.33

&% AB)eh TES0 (A) HBAW 5EEI0 (R) 00, 808 00 )57 0 OB (HTFEe3) AQ)), OO,
Q32 & 78R 0 (A): ABIO ST ST BOAS G-7 (175 TI0EY, 4955 FDTS DXFSF8 2SS0 5523B08.

58690 (R): 27°3HTF0 €58 89 eOST 0B G-7 (DS’ 0HSE 7% 5¢5 25 5TH0.
Options :

1. % A OO R e BOG® Oe550 0O R @R A BBy OB Ddden

2. % A SB05 R @0 BOGY Oh5aNS 570 R @96 A TBEY DT DIBED 5°¢

3. ¢ A %50 5°Q) R @09¢550

4. % A @3¢50 57 R Oebg0

Question Number : 1 Question Id : 630680313563 Is Question Mandatory : No Calculator : None Response Time : N.A Think
Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0.33

For the Assertion (A) and Reason (R) below, choose the CORRECT alternative from the following options.

Assertion (A): India attended the 49™ Summit of G-7 group, recently held in Hiroshima.
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Reason (R): India is a formal permanent member of G-7 group from South Asia.
Options :

1. ¥ Both A and R are true and R is the correct explanation of A

2. % Both A and R are true but R is not the correct explanation of A

3. % Ais true but R is false

4. % A is false but R is true

Question Number : 2 Question Id : 630680313564 Is Question Mandatory : No Calculator : None Response Time : N.A Think
Time : N.A Minimum Instruction Time : 0
Correct Marks : 1 Wrong Marks : 0.33

2330 T QA (THO S0 (DTG0 TOHDAS 108 &8 &9 & TS 8D & IS a6’ 9B
@e853).8 DS HE S0 EDAS BFO E?

Options :

1. % OIS

2. ¥ QDOTD

3. % B3S

4. % 288

Question Number : 2 Question Id : 630680313564 Is Question Mandatory : No Calculator : None Response Time : N.A Think
Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0.33

Which country has the 'Grand Order of the Chain of the Yellow Star' award as their highest civilian award, which is given to President
Droupadi Murmu recently?

Options :

1. ¥ Philippines
2. ¥ Suriname
3. # Brazil

4. % Serbia

Question Number : 3 Question Id : 630680313565 Is Question Mandatory : No Calculator : None Response Time : N.A Think
Time : N.A Minimum Instruction Time : 0
Correct Marks : 1 Wrong Marks : 0.33

806 e3¢5 23598 202365° DBIBD D0CcsID [WS5By, ¢3S D00 $O8 &od?
Options :

1. ¥ &8 00°0&, OS0TTE 0N 0B ARTEVDONS ARTIAHS

2. % &S THOST HOAW B8 e FHAS®

3. % 238, OIS HBASN T

4 % QEEHS SO0 DO

Question Number : 3 Question Id : 630680313565 Is Question Mandatory : No Calculator : None Response Time : N.A Think
Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0.33

The Windsor Framework which is formed in February 2023, is associated with which of the following?

Options :

1. % Northern Ireland, United Kingdom, and the European Union

2. % North Korea and South Korea

3. # Japan, Philippines, and China

4. % TIsrael and Syria

Question Number : 4 Question Id : 630680313566 Is Question Mandatory : No Calculator : None Response Time : N.A Think
Time : N.A Minimum Instruction Time : 0
Correct Marks : 1 Wrong Marks : 0.33
Who has become the new president of the World Bank in June 2023?
Options :
1. ¥ Swaminathan Janakiraman
2. % Dennis Francis
3. # Kristalina Georgieva
4. ¥ Ajay Banga
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Question Number : 4 Question Id : 630680313566 Is Question Mandatory : No Calculator : None Response Time : N.A Think
Time : N.A Minimum Instruction Time : 0
Correct Marks : 1 Wrong Marks : 0.33

2378 20236 |00 25050 ¢ ¢S ZOAT IS DO AST5E?
Options :

1. % 2LNTHN 2°S8TZDR

2. % BALX [P

3. % 8O 2320

4. ¢ 2300 w01

Question Number : 5 Question Id : 630680313567 Is Question Mandatory : No Calculator : None Response Time : N.A Think
Time : N.A Minimum Instruction Time : 0
Correct Marks : 1 Wrong Marks : 0.33

808 (DEEI(©)S’ NATO (778 @035 1¢3¢3 s8SENS)E 00220500 20 S/ dE/D?

L D08 D58 2023¢3° NATO TBwE), HOES 2553350 e9:5¢58008.
IL NATO &’ T8 3165 IO DT 08 e053$80D08.

Options :

1. % 10805 IT e Bodsr

2. ¥ 1 3r(Ho

3. % 1520 S 1157 0 5°¢%0
4. % I (b

Question Number : 5 Question Id : 630680313567 Is Question Mandatory : No Calculator : None Response Time : N.A Think
Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0.33

Which of the following statement(s) is/are NOT true for NATO (North Atlantic Treaty Organisation)?

I. Finland became NATO’s newest member in February 2023.
I1. Finland became the 31st country to join NATO.

Options :

1. ¥ BothIand II
2.% Only I

3. # Neither I nor II
4. % Only II

Question Number : 6 Question Id : 630680313568 Is Question Mandatory : No Calculator : None Response Time : N.A Think
Time : N.A Minimum Instruction Time :
Correct Marks : 1 Wrong Marks : 0.33

808 38’ Fero&-mra'R 202365 HEHNE DOAS ) DISE’ (MOS0 T3S BENTNEN D JIB0?
Options :

1. % 20)0 &

2. % 8238 2555

3. % 0O OO

4. ¢ $F>8 2858

Question Number : 6 Question Id : 630680313568 Is Question Mandatory : No Calculator : None Response Time : N.A Think
Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0.33

Who among the following has won the Grand Slam title in the men's singles final at Roland-Garros 2023?

Options :

1. ® Casper Ruud

2. % Roger Federer

3. ¥ Rafael Nadal

4. ¥ Novak Djokovic

Question Number : 7 Question Id : 630680313569 Is Question Mandatory : No Calculator : None Response Time : N.A Think
Time : N.A Minimum Instruction Time : 0
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Correct Marks : 1 Wrong Marks : 0.33
B DB 7850 (A) S0BAW 5780 (R) §00, 80A 00 )57 DHOG DT (DE5°5e357) A7), DO 0R:

D32 & ED 0 (A): D 20235 ETEES’ 0o(AD P OTEOSE S0

52890 (R): SPO(TTR 142 DEY FentHLH0E BN Keh @%}OZD S 0T 7% 8,8 °ET DOTNH0A.
Options :

1. % A 035 R €0 BOGF O¢b50 08O R @9 A G30EY OB DedBed

2. % A 805 R €0 BOKY Db 5% R @I A By OB D986 5260

3. ¥ A %50 52 R @00¢5 50

4. % A @050 520 R Hebs0

Question Number : 7 Question Id : 630680313569 Is Question Mandatory : No Calculator : None Response Time : N.A Think
Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0.33

For the Assertion (A) and Reason (R) below, choose the CORRECT alternative from the following options:

Assertion (A): In May 2023, The Congress has returned to power in Karnataka.

Reason (R): The Congress has won 142 seats and has increased its vote share by 7% from the last Assembly poll.
Options :

1. # Both A and R are true and R is the correct explanation of A

2. % Both A and R are true but R is not the correct explanation of A

3. % Ais true but R is false

4. % Ais false but R is true

Question Number : 8 Question Id : 630680313570 Is Question Mandatory : No Calculator : None Response Time : N.A Think
Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0.33

In September 2022, the Ministry of Home Affairs (MHA) has notified the rules governing that would enable police to collect,
store and analyse physical and biological samples of arrested persons.

Options :

1. ¥ The Criminal Person (Database) Act, 2019

2. % The Criminal Procedure (Identification) Act, 2022
3. ¥ The Criminal Person (Identification) Act, 2022

4. % The Criminal Procedure (Database) Act, 2021

Question Number : 8 Question Id : 630680313570 Is Question Mandatory : No Calculator : None Response Time : N.A Think
Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0.33

R0V 202265, TRFO 95393507 00| e3¢5 ¢ 7o (MHA) Q AAHO(B0T ADORIDX BAAHBI0, A
S‘é&w@ BY TS 3550 FBBE X08AN 28X00DOGT ST VEB0LIEE, ded § BANERE SOASN
DENOVTIE Hew O YN0A.

Options :

1. % 1B HB)S (BErBR) 90, 2019

2. ¢ 18IS (872235 ((900%y) &0, 2022

3. % 18IS DB (H80y) DO, 2022

4. % BSS (0230 (BerzSR) w980, 2021

Question Number : 9 Question Id : 630680313571 Is Question Mandatory : No Calculator : None Response Time : N.A Think
Time : N.A Minimum Instruction Time : 0
Correct Marks : 1 Wrong Marks : 0.33

806 T3S’ G (GT B33 5° B °ii6E) D5 H020E0D & (HEEdN HBIN?

L [P00% 900G HHEO0 UDAN @958 o DeSTdOsTed s00( e3¢5 § 3220 TB0EY (Haleh 80 SE5E00.

L e85 202365, UDAN €55 B0¢5¢3 Dadrar)), [29G75e00(83 201565 (3E08)0DS8N )¢S 0 23005050 8

00X 0" J°8 TOZOA.

1II. UDAN D80 B8 I (& $B0% (363) srB050 B I (598308 F63) SHT™S” ST DSTSOSTS SF°OE D osren
SHB050 Do ETEVEESE B0 DA BT0E O VBB Y0 OF SO ENZ0A.

Options :

1% 100a%W I e OB
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2. % I 0005 T e OB
3. % 1,11 0805 I e OB S
4. ¥ T:08a5W I e OB

Question Number : 9 Question Id : 630680313571 Is Question Mandatory : No Calculator : None Response Time : N.A Think
Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0.33

Which of the following statements are CORRECT with reference to UDAN (Ude Desh ka Aam Nagrik) scheme?

I. Regional Connectivity Scheme UDAN is a flagship program of Ministry of Civil Aviation.

II. In August 2023, UDAN has completed 8 years of success since the launch of it first flight by Prime Minister in 2015.

III. The UDAN scheme aims to fulfil the aspirations of the common citizen with an enhanced aviation infrastructure and air connectivity
in tier II and tier III cities.

Options :

1. ® I and II are correct

2. # II and III are correct
3. % I, 1I and III are correct
4. % T and III are correct

Question Number : 10 Question Id : 630680313572 Is Question Mandatory : No Calculator : None Response Time : N.A Think
Time : N.A Minimum Instruction Time : 0
Correct Marks : 1 Wrong Marks : 0.33

808 3 23Beh (92D § TO-e7 (TS0 D020E0D HBIE D&.

Options :

1. % BD-0 (T (DBSEOMT S35 D3 08050 DoIQ0E §H0 SreroQodnR0d.

2. % BO-07 57300 DLED (FOTOED S5°(¢H 330 IONHO TONDBOE O (TN (2P OTFE DRBOTIED.
3. % BO-e7 (TP S0 DB D 0TS’ (065550 TS R DSFSF T S0° (DB SE0M °§0% DITPASTY,
©OANOA.

4. ¢ BO-07 | 9T 52758 006 BFS” 50D HEXTP 0BT DOEIQ0DED SFOTONEL 2.8 A-
Q0D 5S0.

Question Number : 10 Question Id : 630680313572 Is Question Mandatory : No Calculator : None Response Time : N.A Think
Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0.33

Which of the following statement is CORRECT with reference to the Tele-Law programme of Indian Government.

Options :

1. % The Tele-Law program is exclusively designed for medical advice and consultation.

2. # The Tele-Law program is limited to urban areas and does not extend to rural areas.

3. # The Tele-Law program provides legal aid exclusively through physical meetings at Common Service Centres.

4. % The Tele-Law programme is an e-interface mechanism to seek legal advice and consultation at a pre-litigation stage.

Question Number : 11 Question Id : 630680313573 Is Question Mandatory : No Calculator : None Response Time : N.A Think
Time : N.A Minimum Instruction Time : 0
Correct Marks : 1 Wrong Marks : 0.33

30202365, 277565 (DS T°§00ITE 0(DOFED TP SONSTEDENT T (Dedred D F5E0 TDONOTED.
Options :

1. % 2.00. 8D 080 230D SFA

2. % 292300 BN DO (NDF0S H03TD (B

3. ¢ 1 DF0SB 0370 aD|F° DO B.0. D SPDR

4. % K. M. 0D OO V. T°e00 (2303008

Question Number : 11 Question Id : 630680313573 Is Question Mandatory : No Calculator : None Response Time : N.A Think
Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0.33

In May 2023, the Chief Justice of India administered the oath of office to as the judges of the Supreme Court.

Options :

1. # K. M. Joseph and Ajay Rastogi

2. % Ajay Rastogi and Prashant Kumar Mishra

3. % Prashant Kumar Mishra and K.V. Viswanathan

https://g06.tcsion.com/CAE/viewHtmIPDFAction.action 5/74



18/08/2023, 15:11 https://g06.tcsion.com/CAE/viewHtmIPDFAction.action

4. # K. M. Joseph and V. Ramasubramanian

Question Number : 12 Question Id : 630680313574 Is Question Mandatory : No Calculator : None Response Time : N.A Think
Time : N.A Minimum Instruction Time : 0
Correct Marks : 1 Wrong Marks : 0.33

55282 202365, (DR SBOE B 8DNLB0DS 2SS 6G 8BS TIFOE (D5°S0, 23SHTF0 °¢38 -8
6G EsABAS RSO ©0CNTENE 8 BNZTSETRE DPYS 0.

Options :

1. % 2026

2. 2030

3. % 2033

4. % 2035

Question Number : 12 Question Id : 630680313574 Is Question Mandatory : No Calculator : None Response Time : N.A Think
Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0.33

As per the Bharat 6G Vision Document unveiled by Prime Minister Narendra Modi in March 2023, India is gearing up to roll out high-
speed 6G communication services by

Options :
1. % 2026
2.9 2030
3. % 2033
4. % 2035

Question Number : 13 Question Id : 630680313575 Is Question Mandatory : No Calculator : None Response Time : N.A Think
Time : N.A Minimum Instruction Time : 0
Correct Marks : 1 Wrong Marks : 0.33

2023-24 Q0 2030-31 HEE Jndo S50D0S BASS 5250630 NAS (NQM)Q DS 202365 B0 ZDTE
SIFE0DOE, BE 00 WSO (QT) S %‘ﬁ;oﬁ) 0B B (F°E R&DA (2GS0 0TIB0, DOFOO0ICH0
308050 DAB0TIBO BTN FEI0HT DT, DT5IBED 29530 D00 ©F SO DEPELOA.

Options :

1. # Rs.2003.65 §%¢X

2. % Rs.5003.65 §%¢

3. % Rs.6003.65 §°¢

4. % Rs.8003.65 §°¢D

Question Number : 13 Question Id : 630680313575 Is Question Mandatory : No Calculator : None Response Time : N.A Think
Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0.33

In April 2023, The Union Cabinet approved the National Quantum Mission (NQM) at a total cost of from 2023-24 to 2030-31,
aiming to seed, nurture and scale up scientific and industrial R&D and create a vibrant & innovative ecosystem in Quantum Technology

QD).

Options :

1. ¥ Rs.2003.65 crore
2. % Rs.5003.65 crore
3. % Rs.6003.65 crore
4. % Rs.8003.65 crore

Question Number : 14 Question Id : 630680313576 Is Question Mandatory : No Calculator : None Response Time : N.A Think
Time : N.A Minimum Instruction Time : 0
Correct Marks : 1 Wrong Marks : 0.33

808 1DELIS(@)S 278 eh QOIS T o> (IEW)E H0200500) DB dE/Q?

L 275 0SS S5 )50 (IEW) (23558 202365 DB £a0t50308.
IL 0026 23785 RO e o530 (IEW) 202385 (G008 (3 B0D 0T .

Options :

1. ¥ TS5

AR NG

3. % 10005 IT e Bocskr
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4. % 150 B 1 5°Q D& 570

Question Number : 14 Question Id : 630680313576 Is Question Mandatory : No Calculator : None Response Time : N.A Think
Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0.33

Which of the following statement(s) is/are CORRECT for India Energy Week (IEW)?

L. India Energy Week (IEW) was organised in February 2023.
II. The Prime Minister inaugurated the India Energy Week (IEW) 2023 in Mumbai.

Options :

1. ¥ Only I

2. % Only II

3. ¥ BothIand II
4. ® Neither I nor II

Question Number : 15 Question Id : 630680313577 Is Question Mandatory : No Calculator : None Response Time : N.A Think
Time : N.A Minimum Instruction Time : 0
Correct Marks : 1 Wrong Marks : 0.33

TS 008 SBOIS BB €9¢555.65 2388 B SP5DTE DXFHF0 2573 0D 5785 TR(E2S WASE D))chd
SR 0 SODDOE?

Options :

1. % 25,2022

2. v 3558, 2023

3. % 23, 2023

4. % D2058, 2023

Question Number : 15 Question Id : 630680313577 Is Question Mandatory : No Calculator : None Response Time : N.A Think
Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0.33

When did the Union Cabinet, chaired by the Prime Minister Narendra Modi, approved National Green Hydrogen Mission?

Options :

1. ¥ October, 2022

2. ¥ January, 2023

3. % June, 2023

4. ¥ February, 2023

Question Number : 16 Question Id : 630680313578 Is Question Mandatory : No Calculator : None Response Time : N.A Think
Time : N.A Minimum Instruction Time : 0
Correct Marks : 1 Wrong Marks : 0.33

808 (DELN(@)S arESTIOS’ 0$58F. FoTBEHS @0NHOE H0D0HOD NI DE/D?

L @00 B oA erEST35) INEQBNCES DOAS-D 3D-|D0TE T°8E R08S.

11 &AQ BT, DG SPO°OAN0MT &), VYR-BF P30 @A) 06 98I0 TR0,
Options :

1. % TS0

AR NG

3. ¥ 1000w IT e Bocskw

4. % 150 S I 5°Q & 5°¢%0

Question Number : 16 Question Id : 630680313578 Is Question Mandatory : No Calculator : None Response Time : N.A Think
Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0.33

Which of the following statement(s) is/are TRUE for developments in space technology in India?

1. Agnilet is India’s first single-piece 3D-printed rocket engine.
I1. It has been developed by Chennai-headquartered space-tech start-up Agnikul.

Options :

1. # Only I

2. % OnlyII

3. % Both I and I
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4. % Neither I nor II

Question Number : 17 Question Id : 630680313579 Is Question Mandatory : No Calculator : None Response Time : N.A Think
Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0.33

In May 2023, launched the Centre’s flagship programme ‘Poshan Bhi, Padhai Bhi’, which will focus on Early Childhood Care and
Education (ECCE) at anganwadis across the country

Options :

1. % Union Minister for Women and Child Development
2. # Union Minister for Rural Development
3. # Union Minister for Food Processing Industries

4. ¥ Union Minister for Education

Question Number : 17 Question Id : 630680313579 Is Question Mandatory : No Calculator : None Response Time : N.A Think
Time : N.A Minimum Instruction Time : 0
Correct Marks : 1 Wrong Marks : 0.33

320238, BO(C30 TNEY, (DBFTSIETS TSSO ‘PAS &), DGF0W 8 (PG00, B TBFF5A0Mm
©ONSTROES S s 237e35¢5% D0BE €9 HBAW DS (ECCE)D St FEN0A.
Options :

1. ¢ B0 P 3% ©98)S9Q TP 00|

2. % B0|& ITaDETDS9Q 3o O3

3. % Z0(Q D& P VV0A HBFH© T 003
4. % 30( DT§TY 0|3

Question Number : 18 Question Id : 630680313580 Is Question Mandatory : No Calculator : None Response Time : N.A Think
Time : N.A Minimum Instruction Time : 0
Correct Marks : 1 Wrong Marks : 0.33

5525 OB 8 €5 2023 230D DOH(E5S OB L AAMWE AAAS TNEY SO DWEI?
Options :

1% &y e (Bozd

2. % (7)) ;0200 (Er Q0w (B23b)

3. 3 0 IO

4. % 1D B e FO

Question Number : 18 Question Id : 630680313580 Is Question Mandatory : No Calculator : None Response Time : N.A Think
Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0.33

What is the theme of the eighth edition of the national survey of cleanliness, The Swachh Survekshan 2023?

Options :

1. ¥ Trash to Treasure

2. # Transforming Trash into Treasures

3. ¥ Waste to Wealth

4. % From Garbage to Gold

Question Number : 19 Question Id : 630680313581 Is Question Mandatory : No Calculator : None Response Time : N.A Think
Time : N.A Minimum Instruction Time : 0
Correct Marks : 1 Wrong Marks : 0.33

0285 202265, To(50 2026 T°¢38 FAXS &5 Ja (SO (NCAP) HBHSE 33 TS’ 38 2 (v Eered
o5 % SHoTOR §S 0575, ATFoD0A.

Options :

1. ¥ 40%

2. % 329

3. % 50%

4. % 25%

Question Number : 19 Question Id : 630680313581 Is Question Mandatory : No Calculator : None Response Time : N.A Think
Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0.33
In September 2022, The Centre has set a new target of a reduction in particulate matter concentration in cities covered under the
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National Clean Air Programme (NCAP) by 2026.
Options :
1. ¥ 40%
2. % 32%
3. % 50%
4. % 25%

Question Number : 20 Question Id : 630680313582 Is Question Mandatory : No Calculator : None Response Time : N.A Think
Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0.33

3-8 D0 ITO 50N B DV DI TR0 233D P ESDETDE TIEI0 DV DI TR0 'HDOEH' 2795 2 De
T0E. & 0 2XTOS 2,563 A 808 ¢3S’ DE?

Options :

1. % 3588 570

2. % 1235 Q50

3. ¢ 88 DR

4. % 338 D50

Question Number : 20 Question Id : 630680313582 Is Question Mandatory : No Calculator : None Response Time : N.A Think
Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0.33

The National Curriculum Framework for education of children aged 3-8 years has listed the ‘panchakosha’ concept for education of
children. Which of the following is NOT one among its five parts?

Options :

1. ¥ Sharirik vikas
2. # Pranik vikas
3. ¥ Dharmik vikas
4. % Chaitsik vikas

Question Number : 21 Question Id : 630680313583 Is Question Mandatory : No Calculator : None Response Time : N.A Think
Time : N.A Minimum Instruction Time : 0
Correct Marks : 1 Wrong Marks : 0.33

80 1DBEIS(@)S’ (DTS s00(€3 308 DO 00 (EACPM) TINE), (TN €93 0705 sHBA5N Hogrs a7 AZOE
VWY BOED IAARE D0DOOOD) DT AE/Q?

L 50235 9 @) D), T°lale>eS’ BT ¢S FLN (BPG0E @8 0705 8050 Dogrs a°) &6 $O8 &od
202265° 0S¢ T*505% FoHOE.

IL 5308 93 Q) D) T°aTOS €983 50769 FLN ([BPG0E @08 0705 08050 Hogrs a°) &6 $O8 &0,
20226° HBEF0BS S0 &0d.

Options :

1. ¥ 1 305530 DBID

2. % 1000 I e BO” OB

3. % 1 30950 DBIA

4. % 150 B 1157 DA OBIE 5260

Question Number : 21 Question Id : 630680313583 Is Question Mandatory : No Calculator : None Response Time : N.A Think
Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0.33

Which of the following statement(s) is/are CORRECT with reference to the second edition of the Foundational Literacy and Numeracy
report of the Economic Advisory Council to the Prime Minister (EACPM)?

1. Punjab has the highest FLN (Foundational Learning and Numeracy) score among all the small states, securing the first rank in 2022.
II. Jharkhand has the lowest FLN (Foundational Learning and Numeracy) score among all the small states, ranking eleventh in 2022.

Options :

1. % Only I is correct

2. % Both I and II are correct
3. # Only Il is correct

4. % Neither I not IT are correct

Question Number : 22 Question Id : 630680313584 Is Question Mandatory : No Calculator : None Response Time : N.A Think
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Time : N.A Minimum Instruction Time : 0
Correct Marks : 1 Wrong Marks : 0.33
808 D8I §00:

L 2°3HTBFOS D SO e9¢b50¢h Senareh (Sroeeed HOWS 201865’ 42 H0G 202265’ 36 § HAFONOE.
1 2SSTF0S’ SeHOS” Eeneh (Broee> HoWS 2018 & 351 OO 2022 °¢38 311 § HANFONOA.

DB DD IEIN oo R:
Options :

1. % 1000 IT e BO® OB S°e))
2. % T 00O II e BO® OB

3. % [ X055 OBID

4. ¢ 11 3P OBIA

Question Number : 22 Question Id : 630680313584 Is Question Mandatory : No Calculator : None Response Time : N.A Think
Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0.33

For the following statements:

I. The number of most polluted stretches in India’s rivers has fallen from 42 in 2018 to 36 in 2022.
II. The number of polluted stretches in India’s rivers has fallen from 351 in 2018 to 311 in 2022.

Choose the correct option:
Options :

1. ¥ Both I and II are Incorrect
2. % Both I and II are correct
3. # Only I is correct

4. % Only Il is correct

Question Number : 23 Question Id : 630680313585 Is Question Mandatory : No Calculator : None Response Time : N.A Think
Time : N.A Minimum Instruction Time : 0
Correct Marks : 1 Wrong Marks : 0.33

RS’ 23506585) IABOOI-TeAOST ROETLASS 2023 €958 ) ESS’ HBD® (€39S 230 S0 S
rESTTIE TOAS D88 H¢85°Q) BID0 T0E0R") K.

Options :

1. ¢ 0 (D20 SIS

2. % Qrdes e$iid oo

3. % 85 38

4. % 38550 835D

Question Number : 23 Question Id : 630680313585 Is Question Mandatory : No Calculator : None Response Time : N.A Think
Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0.33

India’s bagged the gold medal in the men’s triple jump event at the Venizelia-Chania International 2023 athletics meet in Greece.
Options :

1. ¥ Selva Prabhu Thirumaran

2. % Suraj Alagar Raja

3. # Rihan Choudhary

4. % Aryan Kashyapa

Question Number : 24 Question Id : 630680313586 Is Question Mandatory : No Calculator : None Response Time : N.A Think
Time : N.A Minimum Instruction Time : 0
Correct Marks : 1 Wrong Marks : 0.33

23°85¢h (3525065 $0 TBEY (BTeHE 5G5S0 DOTPONE A0S (8 L6 B&DOSTS (PYKKA) 805, 19 Bo(cdoeS’
£330 3 E5) DODVOTTHR. FO BET DEVF:

Options :

1. % 2388|200

2. ¢ S 3w

3. % QS0dFew

4. % POy
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Question Number : 24 Question Id : 630680313586 Is Question Mandatory : No Calculator : None Response Time : N.A Think
Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0.33

Under Panchayat Yuva Krida Aur Khel Abhiyan (PYKKA), a Govt. of India flagship programme, Community Coaches are appointed at
every centre. They are known as:

Options :

1. ¥ Bharatshrees
2. % Kridashrees
3. # Yuvashrees

4. # Khelshrees

Question Number : 25 Question Id : 630680313587 Is Question Mandatory : No Calculator : None Response Time : N.A Think
Time : N.A Minimum Instruction Time :
Correct Marks : 1 Wrong Marks : 0.33

I 3ES HEB 22056 FS €ard 237 202365 38AN FAIS ©90e53-07( 5 T0DONSANS’ 8 (1S S $S
05065 @8O8 B Qe FEFc.
Options :

1. ¥ 21.77 e
2. % 21.49 D
3. % 21.88 EOD
4. % 23.62 EOOD

Question Number : 25 Question Id : 630680313587 Is Question Mandatory : No Calculator : None Response Time : N.A Think
Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0.33

Famous shot putter Tajinder Pal Toor shattered his own Asian record with a huge throw of in the National Inter-State
Championship in June 2023.

Options :

1. ¥ 21.77 meters
2. % 21.49 meters
3. % 21.88 meters
4. ¥ 23.62 meters

Question Number : 26 Question Id : 630680313588 Is Question Mandatory : No Calculator : None Response Time : N.A Think
Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0.33

According to India TB Report 2022, in 2021 there was an increase of from the previous year in TB patients’ notification.
Options :

1. % 40%

2.% 19%

3. % 20%

4. % 09%

Question Number : 26 Question Id : 630680313588 Is Question Mandatory : No Calculator : None Response Time : N.A Think
Time : N.A Minimum Instruction Time : 0
Correct Marks : 1 Wrong Marks : 0.33

2SSTE TB BSOS 2022 (H5°50, 20216S° TB EHred SEIDTASES’ 300053¢3 03¢5 )50 0T 225G God.
Options :
1. % 40%
2.9 19%
3.% 20%
4. % 099

Question Number : 27 Question Id : 630680313589 Is Question Mandatory : No Calculator : None Response Time : N.A Think
Time : N.A Minimum Instruction Time : 0
Correct Marks : 1 Wrong Marks : 0.33

808 (D8 §o:
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L O 9T PA506YO D(FN0 08O T S0 2557a02) 28578 H020H0DIE 5°¢.
I HIZ0¢ 0G50 @OmrSE ($53e6S, S50 (DG erE0 e8I)2s.

DB DONEX JOTHEFOR

Options :

1% 130550 OB

2. % 1 35330 OB

3. % T 00O T e O OB

4, ¥ 108050 1T €0 BOC” OB 5°a)

Question Number : 27 Question Id : 630680313589 Is Question Mandatory : No Calculator : None Response Time : N.A Think
Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0.33

For the following statements:

L. Air is a mixture of many gases and its composition is not related to life on earth.
II. In planets Venus and Mars, the major component of the atmosphere is Oxygen.

Choose the correct option
Options :

1. # Only I is correct

2. % Only II is correct

3. # Both I and II are correct
4. % Both I and II are incorrect

Question Number : 28 Question Id : 630680313590 Is Question Mandatory : No Calculator : None Response Time : N.A Think
Time : N.A Minimum Instruction Time : 0
Correct Marks : 1 Wrong Marks : 0.33

805700 DeE32) S0 e 50 208 558 €% )8 s, XrSyen AR, TAHSS. S (5350
DXTTTONN ST, 5050 B 277558 HOKHEIS'E ST O:

Options :

1. ¥ deeddged

2. ¥ &H080 |IBES

3. % &880 &Y

4. % &H0S 90N

Question Number : 28 Question Id : 630680313590 Is Question Mandatory : No Calculator : None Response Time : N.A Think
Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0.33

A person wonders how is it possible for insects to walk on water, human beings can’t do it. In order to answer this question, we will have
to refer to the concept of:

Options :

1. ¥ Surface tension

2. % Surface projection
3. # Surface membrane

4. % Surface prediction

Question Number : 29 Question Id : 630680313591 Is Question Mandatory : No Calculator : None Response Time : N.A Think
Time : N.A Minimum Instruction Time : 0
Correct Marks : 1 Wrong Marks : 0.33

A DB 750 (A) S0BAW 5730 (R) §0, §0A 0D )57 DO OB (DE5°56307) A7), OO R.
Q22 & 82 0 (A): BoHen DESOTT GOCHETIE e F830S° De3 T o JE5eroTd.

52890 (R): 257002200 28e3-Erare>8d 00D 950E0 J0NE0E e3 38T en 5638y De3eS 8/
OSETO OE FNB0S” SERTBY).

Options :

1. ¥ A DB R €0 BOG® Oeb50 SO R @ A T3y OB DdSen

2. % A SB05 R @0 BOGY Oh5aNS 570 R @06 A TBEY DB DB 5°¢

3. % A D$50 5°Q R @9¢550
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4. % A @050 52 R Oeb50

Question Number : 29 Question Id : 630680313591 Is Question Mandatory : No Calculator : None Response Time : N.A Think
Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0.33

For the Assertion (A) and Reason (R) below, choose the CORRECT alternative from the following options.

Assertion (A): Organisms need to maintain the level of water within their bodies in order to stay alive.

Reason (R): Terrestrial life-forms require fresh water because their bodies cannot tolerate high amounts of dissolved salts in saline water.
Options :

1. ¥ Both A and R are true and R is the correct explanation of A

2. % Both A and R are true but R is not the correct explanation of A

3. % Ais true but R is false

4. % Ais false but R is true

Question Number : 30 Question Id : 630680313592 Is Question Mandatory : No Calculator : None Response Time : N.A Think
Time : N.A Minimum Instruction Time : 0
Correct Marks : 1 Wrong Marks : 0.33

05090 FAE B By, EBHS DB 38 wddTren  ors0° IBIS 0ETON.
Options :

1. ¢ 8892355 HOO3@HIEAD

2. % 2B 3y80

3. % voricso

4. % &80

Question Number : 30 Question Id : 630680313592 Is Question Mandatory : No Calculator : None Response Time : N.A Think
Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0.33

Carbon and energy requirements of the autotrophic organism are fulfilled by

Options :

1. ¥ Photosynthesis

2. # Transpiration

3. ¥ Ingestion

4. # Osmosis

Question Number : 31 Question Id : 630680313593 Is Question Mandatory : No Calculator : None Response Time : N.A Think
Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0.33

Options :

1. ¥ I-b, Il-a, II-c
2. % I, II-b, Ill-a
3. % b, I-c, ll-a
4. % I-c, Il-a, I1I-b

Question Number : 31 Question Id : 630680313593 Is Question Mandatory : No Calculator : None Response Time : N.A Think
Time : N.A Minimum Instruction Time : 0

https://g06.tcsion.com/CAE/viewHtmIPDFAction.action 13/74



18/08/2023, 15:11 https://g06.tcsion.com/CAE/viewHtmIPDFAction.action
Correct Marks : 1 Wrong Marks : 0.33

Options :

1. % I-b, Il-a, lll-c
2. % I-c, II-b, Ill-a
3. % I-b, [I-c, II-a
4.9 1-c, Il-a, I1I-b

Question Number : 32 Question Id : 630680313594 Is Question Mandatory : No Calculator : None Response Time : N.A Think
Time : N.A Minimum Instruction Time : 0
Correct Marks : 1 Wrong Marks : 0.33

806 ¢3S &) FseS’ &0T 5| E (H0CHE T ST° |DDOTIDEISE/D DE/D?

L 3 ET65 essvo
IL DD

1L 328

Options :

1. % 10805 111
2. 1000 11

3. % 110005 11T
4. % T 110805 111

Question Number : 32 Question Id : 630680313594 Is Question Mandatory : No Calculator : None Response Time : N.A Think
Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0.33

Which of the following is/are secreted by the gastric glands present in the wall of the stomach?

1. Hydrochloric Acid
II. Pepsin
III. Casein

Options :

1. #¥ Tand III

2. % Tand II

3. % Il and I
4. % [, 11 and III

Question Number : 33 Question Id : 630680313595 Is Question Mandatory : No Calculator : None Response Time : N.A Think
Time : N.A Minimum Instruction Time : 0
Correct Marks : 1 Wrong Marks : 0.33

R 25020 NN, [ (DB TR 57 S (DBFEOMT SR TR B eSS
MO GOLTOW.
Options :
1. ¥ QJr&)230 (Mesophytes)
2. % 505065 §£923°0 (Aerenchyma)
3. % Q30 [y (Xerophytes)
4, % @?L&S{;iﬁg (Mycotrophics)

Question Number : 33 Question Id : 630680313595 Is Question Mandatory : No Calculator : None Response Time : N.A Think
Time : N.A Minimum Instruction Time : 0
Correct Marks : 1 Wrong Marks : 0.33
are terrestrial plants which are adapted to neither a particularly dry nor particularly wet environment.
Options :
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1. ¥ Mesophytes

2. % Aerenchyma
3. # Xerophytes
4. % Mycotrophics

Question Number : 34 Question Id : 630680313596 Is Question Mandatory : No Calculator : None Response Time : N.A Think
Time : N.A Minimum Instruction Time : 0
Correct Marks : 1 Wrong Marks : 0.33

&3 (808 TS 176085 823’ 23550, @500 AESFOE 53061 HBAM SNPSOT S @SANTES’ %)
303 ©F OSSO E?

Options :

1. % QOZI0 5O

2. % ATV

3. ¢ Ssen

4. % 8 A0

Question Number : 34 Question Id : 630680313596 Is Question Mandatory : No Calculator : None Response Time : N.A Think
Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0.33

Which one of the following diseases is characterised by fever in initial days, chronic inflammation in organs and swelling especially in
lower limbs?

Options :

1. ® Ascariasis
2. % Amoebiasis
3. ¥ Filariasis

4. % Tuberculosis

Question Number : 35 Question Id : 630680313597 Is Question Mandatory : No Calculator : None Response Time : N.A Think
Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0.33

Which of the following statement(s) is/are CORRECT for the processes involved in photosynthesis?

1. Absorption of light energy by chlorophyll.
I1. Oxidation of carbon dioxide to carbohydrates.

Options :

1. # Only II

2. % BothIandII
3.4 Only

4. % Neither I nor II

Question Number : 35 Question Id : 630680313597 Is Question Mandatory : No Calculator : None Response Time : N.A Think
Time : N.A Minimum Instruction Time : 0
Correct Marks : 1 Wrong Marks : 0.33

808 (DES(©)S’ 8892355 HOTIFHEONS” PSS (DEAHOES DB JE/D?

L §ENS o500 520 $8 Ty, 5369 23505e5008.

IL 58 ) 3P BL §E50 5°6)S a3 B, es8)ESe0.
Options :

1. % 11 300 b

2. % 1000w I1 Botky

LI NV S

4. % 150 S I 5°Q O 5°¢%0

Question Number : 36 Question Id : 630680313598 Is Question Mandatory : No Calculator : None Response Time : N.A Think
Time : N.A Minimum Instruction Time : 0
Correct Marks : 1 Wrong Marks : 0.33

808 ¢3S §0% (oS §0chtd8aHeN DBANBEAL S0 S DE?
Options :
1. ¥ @) D00
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2. % P S5O0
3. % 8¢ Qom0
4. % 278580

Question Number : 36 Question Id : 630680313598 Is Question Mandatory : No Calculator : None Response Time : N.A Think
Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0.33

Which of the following measure is NOT a cause of landslides in hilly areas?

Options :

1. ¥ Increase forestation

2. % Shifting agriculture

3. ¥ Building of roads

4. % Heavy rain

Question Number : 37 Question Id : 630680313599 Is Question Mandatory : No Calculator : None Response Time : N.A Think
Time : N.A Minimum Instruction Time : 0
Correct Marks : 1 Wrong Marks : 0.33

9RO 30X0 Q05 D NS0T @0 JONSB 2.8 D772 BN SA0N0. BE SIS (PererE0 0805 €8 236
FoNS’ IR0 EOAN0E. BSHS DT S9f SAASTR), FOBSEE @OTIT® FANSTD).

Options :

1. % NI

2. % 3588

3. % Zr80d0

4. % 5¢505088 S

Question Number : 37 Question Id : 630680313599 Is Question Mandatory : No Calculator : None Response Time : N.A Think
Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0.33
One natural phenomenon which we are not yet able to predict accurately is . It can cause damage to human life and property on a
huge scale. Other natural phenomenon can be predicted to an extent.

Options :

1. ¥ Thunderstorm
2. # Flood

3. ¢ Earthquake
4. # Hailstorm

Question Number : 38 Question Id : 630680313600 Is Question Mandatory : No Calculator : None Response Time : N.A Think
Time : N.A Minimum Instruction Time : 0
Correct Marks : 1 Wrong Marks : 0.33

R0B0NS ASVESE &9 BIES DAYOR (IIRS) — 9T YOACHS IV 88) eGIBAS (ISRO), ArTI00E e
IRV, 2SS (D208 TOAS Derfo. A & H0NSIB0S FDONIDEOE:

Options :

1. ¥ 1966

2. % 1956

3. % 1986

4. % 1996

Question Number : 38 Question Id : 630680313600 Is Question Mandatory : No Calculator : None Response Time : N.A Think
Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0.33

The Indian Institute of Remote Sensing (IIRS) - is a constituent unit of Indian Space Research Organisation (ISRO), Department of Space,
Govt. of India. It was established in:

Options :
1. ¥ 1966
2. % 1956
3. % 1986
4. % 1996

Question Number : 39 Question Id : 630680313601 Is Question Mandatory : No Calculator : None Response Time : N.A Think
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Time : N.A Minimum Instruction Time : 0
Correct Marks : 1 Wrong Marks : 0.33
FORONS AIVEITEES 35 BIE 1YoN RE) e &od:
Options :
1. % ZBorsirdd
2. ¥ TSRS
3. % QPRI 0
4. % 30023

Question Number : 39 Question Id : 630680313601 Is Question Mandatory : No Calculator : None Response Time : N.A Think
Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0.33

The Indian Institute of Remote Sensing is located in:

Options :

1. # Bangalore

2. % Dehradun

3. # Visakhapatnam

4. % Mumbai

Question Number : 40 Question Id : 630680313602 Is Question Mandatory : No Calculator : None Response Time : N.A Think
Time : N.A Minimum Instruction Time : 0
Correct Marks : 1 Wrong Marks : 0.33

FOBONS YIVEITEE €89 BIE A YON (IIRS) ROHEL 300 Q> DOTED:
Options :

1. % 335 8D 30AAST (SOI)

2. ¥ R0B0DS FE’-R0E[DTAS BRNETSE (IPI)

3. % 233 588 - IBIAS DS @08 DB B 528 (FGISEO)

4. % ).L0°5E @D 2337 — ADNVAN D) @O& DB S (IGISS)

Question Number : 40 Question Id : 630680313602 Is Question Mandatory : No Calculator : None Response Time : N.A Think
Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0.33

Indian Institute of Remote Sensing (IIRS) was earlier called:

Options :

1. # The Survey of India (SOI)

2. # Indian Photo-interpretation Institute (IPI)

3. ¥ Faculty of Geo — Information Science and Earth Observatory (FGISEO)

4. # Institute of Geo — Information Science and Survey (IGISS)

Question Number : 41 Question Id : 630680313603 Is Question Mandatory : No Calculator : None Response Time : N.A Think
Time : N.A Minimum Instruction Time : 0
Correct Marks : 1 Wrong Marks : 0.33

808 ¢3S 0D BE! (‘Quake Safe’) DT?EFE SPANSEITOS” BBYDEIE DE?
Options :

1. % @0 25800 B oS 5083 0B8N E03 5, AB0ISBY.

2.9 D TRX) VB’ @98 35708 DBETN 2STOS &0SBD

3. % 8)) Q078 278 DT oA e IIrNOT .

4. % Q0729 R0V (b ad DOEIQOTIOE 80BN e FEN I 5°C.

Question Number : 41 Question Id : 630680313603 Is Question Mandatory : No Calculator : None Response Time : N.A Think
Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0.33

Which one of the following is included in ‘Quake Safe’ structures guidelines?

Options :

1. # The use of mud and timber is avoided in highly seismic zones.

2. % Buildings having firefighting equipment in working order

3. # Heavy construction material to be used for constructing the roofs.

4. % Only consult structural engineers and not the architects.
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Question Number : 42 Question Id : 630680313604 Is Question Mandatory : No Calculator : None Response Time : N.A Think
Time : N.A Minimum Instruction Time : 0
Correct Marks : 1 Wrong Marks : 0.33

R0B0NS BIVETSE 3D 8¢S VYO (IIRS) FH0BTBE, SO0 OO DT85 DT WS
TR BTSN DB5SE 0ITIE I eh (33 DBET" OB 0. 808 ¢3S & HBESOS’ BB DE?
Options :

1. % (8 5OH6

2. % Qo T8 BID0h HBFB0

3. % 30t ro(deh ead

4. ¢ OJ0HG Asr8)e>BErd (LINAC)

Question Number : 42 Question Id : 630680313604 Is Question Mandatory : No Calculator : None Response Time : N.A Think
Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0.33

Indian Institute of Remote Sensing (IIRS) houses a wide range of equipment for measuring and monitoring physical, chemical and
environmental parameters in the field. Which one of the following is NOT included in that equipment?

Options :

1. % Tree caliper

2. # Electronic Levelling Instrument
3. ¥ Snow Density Meter

4. % Linear Accelerator (LINAC)

Question Number : 43 Question Id : 630680313605 Is Question Mandatory : No Calculator : None Response Time : N.A Think
Time : N.A Minimum Instruction Time : 0
Correct Marks : 1 Wrong Marks : 0.33

R0B0NS BIVETSE 3D 8BTS VYO (IIRS) &t SOHOES SYBIBR0S BE.69 @9 §C%:
Options :

1. % S raoed

2. % 810D

3. % 830°¢) _QY0h

4. ¢ OSrORTZrID

Question Number : 43 Question Id : 630680313605 Is Question Mandatory : No Calculator : None Response Time : N.A Think
Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0.33

The Indian Institute of Remote Sensing (IIRS) does NOT impart professional training in the field of:

Options :

1. # Photogrammetry

2. # Cartography

3. # Remote Sensing

4. % Angiography

Question Number : 44 Question Id : 630680313606 Is Question Mandatory : No Calculator : None Response Time : N.A Think
Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0.33

According to the National Disaster Management Act 2005, the National Disaster Management Authority,

I. lays down policies on disaster management

I1. approves the National Plan

III. approves plans prepared by the Ministries or Departments of the Government of India in accordance with the National Plan
IV. does not interfere with the State Plans drawn by the State Authorities

Identify the correct statements!
Options :

1. % Only I, IT and III are correct
2. % Only II, 11l and IV are correct
3. % Only I and III are correct

4. % Only II and IV are correct
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Question Number : 44 Question Id : 630680313606 Is Question Mandatory : No Calculator : None Response Time : N.A Think
Time : N.A Minimum Instruction Time : 0
Correct Marks : 1 Wrong Marks : 0.33

22305 DHBY DS 579 TS0 2005 [DSGE0, 277305 DN DS 5769 HDOX A,

L DN QB L5730 DT ABZNOE

IL 209 (DT DELD RPN

1L 2°305 [DETDEED e 0MEIOT 2378 eh (25065 ¢ D05 § FTPDEN B Ve EFFOSODS (DEFDED
SO0

IV. O ©OSEHOT ErdroB0tIdGS O°l (DETPEe& S50 TS

DB (D88 HB0S0A!
Options :

1. ¥ 1, 11 2083050 11T S5 ¢5 530 DB D
2. % I, T 308050 TV &S558 DB
3. % 108050 I 589530 DB

4. % J1 083050 IV 35750 OB

Question Number : 45 Question Id : 630680313607 Is Question Mandatory : No Calculator : None Response Time : N.A Think
Time : N.A Minimum Instruction Time :
Correct Marks : 1 Wrong Marks : 0.33

1B0D8EN 257 TBNEY EIBSH0D HBOMED) reh I TP OW, D3R Z5TE0D SBOMTED 0EFE). @ DFTD
©F HOZB0 750 B850 TOH BTN e 2.8 :

Options :

1. ¥ 00D o°&

2. % Z0DOT 50

3. % @00 Srd

4. % &B7 Io°

Question Number : 45 Question Id : 630680313607 Is Question Mandatory : No Calculator : None Response Time : N.A Think
Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0.33

The tremors produce waves on the surface of the earth which are called seismic waves. They are recorded by an instrument called the
seismograph which is a:

Options :

1. ¥ Vibrating rod
2. % Vibrating plane
3. ¥ Rotating needle

4. # Rotating camera

Question Number : 46 Question Id : 630680313608 Is Question Mandatory : No Calculator : None Response Time : N.A Think
Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0.33

808 ¢3S’ ISRO-28TBR))0NE TBFR)0NE ISP (IGBP) 80 27305 S°B)S (BT (NCP) TBNEY (DGFS ©OFT 50
D?

. 2r8STF0S 200G AT 0 H0DOGOD S°EIS IS ), D) B0 ES 5°8)S ersBS ) B0y
©O0THT® SOSVE.

IL 5°3)& DB VAN 80 906588 0TS 9598 TAMED.

111 2SS TIOS” QG S°EYS 2§ B, Ty IO 0h sHBASN 8358 e@0iar §H0 8RS 1 )0OR-e8570¢ (52
BEPBVDORD D 0.

Options :

1. % 1308050 11 e S5(ehadd

2. % 11 08050 I e S5 (b

3.9 108050 1T e S5 ehadd

4. % 1,11 0805 11

Question Number : 46 Question Id : 630680313608 Is Question Mandatory : No Calculator : None Response Time : N.A Think
Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0.33
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Which of the following are the major goals of the National Carbon Project (NCP) under the ISRO-Geosphere Biosphere Programme
(IGBP)?

I. Assessment of Carbon Pools, Fluxes, and Net Carbon balance for terrestrial biomes in India.
II. Development of space technology for carbon sequestration.
III. Creating remote sensing-based spatial databases for modeling and periodic assessment of net carbon balance in India.

Options :

1. % Only I and I
2. % Only Il and 111
3. Only I and 111
4. % 1,1 and II

Question Number : 47 Question Id : 630680313609 Is Question Mandatory : No Calculator : None Response Time : N.A Think
Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0.33
808 (DELX@)S HBI DE/D?

L 255703 (DE0DEN ZTE0are 9O S D025 OW.

I1. €5€5°.5°¢50 2370 &°8ed) JCH 235°al ) (250N D0ZID0TINTD)
Options :

IR N E PRI

2. % [5°Q B 11 5°Q D& OBIA 550

3. % 100050 I1 e Bodr OBID

4. ¢ 11 3P OBDIA

Question Number : 47 Question Id : 630680313609 Is Question Mandatory : No Calculator : None Response Time : N.A Think
Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0.33

Which of the following statement(s) is/are CORRECT?

I. Tremors on the earth are caused only by earthquakes.
II. Tremors on the earth can be caused when a meteor hits the earth

Options :

1. # Only I is correct

2. # Neither I nor II are correct
3. # Tand II both are correct

4. % Only 11 is correct

Question Number : 48 Question Id : 630680313610 Is Question Mandatory : No Calculator : None Response Time : N.A Think
Time : N.A Minimum Instruction Time : 0
Correct Marks : 1 Wrong Marks : 0.33

VTN FHE ©F°5e0 (SDGEN) ) 2030 2°¢38 IO SAODNLBOE®, 5373 (FANN) TBEY ) RS 800
©0H59B 9S50 QB SFOITIE DO (E00QEB0ICE0S’ DIFONICHEFE ANVelovW) BEY S,
Options :

1. % 16 ©F°50; 169 GRS

2. % 17 05°50; 161 G

3.¥ 17 OF50; 169 GDF

4. % 16 OFO; 161 GBI

Question Number : 48 Question Id : 630680313610 Is Question Mandatory : No Calculator : None Response Time : N.A Think
Time : N.A Minimum Instruction Time :

Correct Marks : 1 Wrong Marks : 0.33

The Sustainable Development Goals (SDGs) are a set of and to help organize and streamline development actions for
greater achievement of human well-being, while leaving no one behind — by 2030.
Options :

1. ¥ 16 goals; 169 targets
2. # 17 goals; 161 targets
3. % 17 goals; 169 targets
4. % 16 goals; 161 targets
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Question Number : 49 Question Id : 630680313611 Is Question Mandatory : No Calculator : None Response Time : N.A Think
Time : N.A Minimum Instruction Time : 0
Correct Marks : 1 Wrong Marks : 0.33

808 ¢3S K0S ©9NIY ©E 50 A DE?
Options :

1. ¥ 558565 HONE DAMEBEY (PG5 RS SC0
2. % 305 5@

3. % D050 HOBE 9

4. % 838 T

Question Number : 49 Question Id : 630680313611 Is Question Mandatory : No Calculator : None Response Time : N.A Think
Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0.33

Which one of the following is NOT an objective of Sustainable Development?

Options :

1. % Prioritize Individual Wealth Accumulation

2. % Economic growth

3. ¥ Environmental protection

4. % Social Inclusion

Question Number : 50 Question Id : 630680313612 Is Question Mandatory : No Calculator : None Response Time : N.A Think
Time : N.A Minimum Instruction Time : 0
Correct Marks : 1 Wrong Marks : 0.33

TR0 K0S @ESHR ©F5 (SDGs) §0 GBS erior  Q S0IDBRT AoHMOOE.
Options :

1. % 0% 3

2. % JroNE D03 TY

3. % or6ed 030 T

4. ¥ DTS D2rrio

Question Number : 50 Question Id : 630680313612 Is Question Mandatory : No Calculator : None Response Time : N.A Think
Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0.33

Andhra Pradesh has designated as the nodal department for the Sustainable Development Goals (SDGs) in the state.

Options :

1. % The Department of Finance

2. # The Department of Social Welfare

3. # The Department of Minorities Welfare

4. % The Department of Planning

Question Number : 51 Question Id : 630680313613 Is Question Mandatory : No Calculator : None Response Time : N.A Think
Time : N.A Minimum Instruction Time : 0
Correct Marks : 1 Wrong Marks : 0.33

D& T ErTFoBODN 2305 PR TIEI0 (DSDID) SIS, VS 9DSHD © 575 HEEB (€38 T
I ED EOB &) TR APDS TI(E0 (SIF)Q & D035 IS0 e30|(NTT 9DSHD TV0E?

Options :

1. % 2020

2. 2022

3. % 2023

4. % 2021

Question Number : 51 Question Id : 630680313613 Is Question Mandatory : No Calculator : None Response Time : N.A Think
Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0.33

On the lines of the National Indicator Framework (NIF) formulated by NITI Aayog, in which year Andhra Pradesh has developed State
Indicator Framework (SIF) which consists indicators of tracking the progress of the Sustainable Development Goals?

Options :
1. % 2020
2.%°2022
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3. % 2023
4. % 2021

Question Number : 52 Question Id : 630680313614 Is Question Mandatory : No Calculator : None Response Time : N.A Think
Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0.33
80& 1DEES(@)S’ DB DE/D:

1. 201565 198 9085072350003 255 T 2030 ABOTES’ 27O VS @ESHE OFE eSBFEOTTON.

IL SDGE® 5SS 23S HTS DA TBNE) OTIT® 27305 AFDE IO (NIF) D &SI 08, AL ¢35
BB (T ROVDOTINS O3¢5 § 3°R (MoSPI) 29839 Q TIOH.

Options :

1. ¥ 11355530 OB

2. % [ Ar(550 OBIA

3. % 10805 1T e Bothy OB

4. % 1520 B 11 5°Q & OBIE 5°¢

Question Number : 52 Question Id : 630680313614 Is Question Mandatory : No Calculator : None Response Time : N.A Think
Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0.33

Which of the following statement(s) is/are CORRECT:

I. The Sustainable Development Goals were adopted as a part of the 2030 agenda by 198 United Nations member states in 2015.
II. Assessment of India’s performance in achievement of SDGs is based on the National Indicator Framework (NIF), developed by the
Ministry of Statistics and Programme Implementation (MoSPI).

Options :

1. % Only Il is correct

2. % Only I is correct

3. # Both I and II are correct

4. % Neither I nor II are correct

Question Number : 53 Question Id : 630680313615 Is Question Mandatory : No Calculator : None Response Time : N.A Think
Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0.33
For the Assertion (A) and Reason (R) below, choose the CORRECT alternative from the following options as per the Andhra Pradesh’s
Socio-Economic Survey 2022-23.

Assertion (A): Andhra Pradesh has emerged as one of the top 5 performing states in the country in achieving the Sustainable
Development Goals for 2021.

Reason (R): Andhra Pradesh State has retained 2nd rank in the Sustainable Development Goal India Index Report — 2020-21
Options :

1. # Both A and R are true and R is the correct explanation of A

2. # Both A and R are true but R is not the correct explanation of A

3. % Ais true but R is false

4. % A is false but R is true

Question Number : 53 Question Id : 630680313615 Is Question Mandatory : No Calculator : None Response Time : N.A Think
Time : N.A Minimum Instruction Time : 0
Correct Marks : 1 Wrong Marks : 0.33

A Qe 7850 (A) BOIW 5280 (R) B0 DOVOHOD), SOIAINTT TBnE), Aredre-es88 OB ¢ 2022-23 (D530 (80
DODEED OB OB (D&507) AR, DONTOR.

D32 & 78R 0 (A): 2021 & VS ©ES5YR OT 5D FE0TIHOES’ BFOS'R 965358555 DABED Ed2dBNS), 5
oo @o(BHTT 253 AODOE.

52890 (R): 008 @9S5HQ 575> ROAAKT H3edE QFAE —2020-2165° 30T TR0 285 T°5058) AOZBEPZ0E.
Options :

1. % A OO R €0 BOG® Oe550 SO R @R A TBEY OB DdSen

2. % A 08050 R €0 BOKY Oehdnd 5°0 R @9 A By OB DG 5260

3. ¢ A D$50 5°Q R @9¢550
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4. % A @050 52 R Oeb50

Question Number : 54 Question Id : 630680313616 Is Question Mandatory : No Calculator : None Response Time : N.A Think
Time : N.A Minimum Instruction Time : 0
Correct Marks : 1 Wrong Marks : 0.33

806 ¢3S 2rBSTFOS & DOV "Q WE 3D ROATETR D STSOE 8NP 2023" XS 08 AIOED
ESInMeleTAloInY;

Options :

1. % €05°% 19 D0 815 38 5702 @0& & AT 0E (ATREE)

2. ¥ 20) @0& A STV 0L DOED (CSE)

3. % 31007038 BANS ARQ)EIPSES HB VYV ©VBAR) 90& 2B33r-3)82¢385) (BISAG-N)

4. % 08T & o3¢0 BFTYV S D0E §H0 e90redS T[S0 (ACIWRM)

Question Number : 54 Question Id : 630680313616 Is Question Mandatory : No Calculator : None Response Time : N.A Think
Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0.33

Which one of the following organizations in India published the annual report named “The State of India’s Environment Report 2023”7
Options :

1. % Ashoka Trust for Research in Ecology and the Environment (ATREE)

2. % The Centre for Science and Environment (CSE)

3. ¥ Bhaskaracharya National Institute for Space Applications and Geo-informatics (BISAG-N)

4. % Advanced Centre for Integrated Water Resources Management (ACIWRM)

Question Number : 55 Question Id : 630680313617 Is Question Mandatory : No Calculator : None Response Time : N.A Think
Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0.33

Options :

1. % I-c,1l-a,Ill-b
2. % I—a,ll-b, Il -c
3.8 1 -a,ll-¢,IlI-b
4. 1-b,11-alll-c

Question Number : 55 Question Id : 630680313617 Is Question Mandatory : No Calculator : None Response Time : N.A Think
Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0.33
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Options :

.¥[-cll-alll-b
2. % J—a,Il-b, Il -¢
3.8 T—all-cII-b
4.9 1-b,1l-a lll-c

Question Number : 56 Question Id : 630680313618 Is Question Mandatory : No Calculator : None Response Time : N.A Think
Time : N.A Minimum Instruction Time : 0
Correct Marks : 1 Wrong Marks : 0.33

808 ¢3S DCENBEY (DISTFOT IO A IE?
Options :

1. ¥ Berg

2. % 2830

3. % Jaa8ed

4. % 38 HTT

Question Number : 56 Question Id : 630680313618 Is Question Mandatory : No Calculator : None Response Time : N.A Think
Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0.33

Which among the following is NOT a west flowing river?

Options :

1. ¥ Betwa

2. % Periyar

3. ¥ Sabarmati

4. % Bharathpuzha

Question Number : 57 Question Id : 630680313619 Is Question Mandatory : No Calculator : None Response Time : N.A Think
Time : N.A Minimum Instruction Time : 0
Correct Marks : 1 Wrong Marks : 0.33

808 ¢3S aPSEBTFOS Q) a0 De5STOH YOS |DTFITOS BNE), 23263 DE?
Options :

1. ¢ 3D (ASQ)

2. % %08S0

3. % 22000)

4. % 300570

Question Number : 57 Question Id : 630680313619 Is Question Mandatory : No Calculator : None Response Time : N.A Think
Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0.33

Which of the following is the dominant plant species of the Tropical Evergreen Forest in India?

Options :

1. ¥ Ebony

2. % Sandalwood

3. # Junipers

4. % Acacias
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Question Number : 58 Question Id : 630680313620 Is Question Mandatory : No Calculator : None Response Time : N.A Think
Time : N.A Minimum Instruction Time : 0
Correct Marks : 1 Wrong Marks : 0.33

3HTE IO B (B 0TS 205758 (DTS ST SOAN0 D8P SOE?
Options :

1. % HE3

2. % 3T,

3. % B

4. &3s0O

Question Number : 58 Question Id : 630680313620 Is Question Mandatory : No Calculator : None Response Time : N.A Think
Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0.33

Where is the headquarter of Wildlife Crime Control Bureau, India?

Options :

1. % Pune

2. % Chennai

3. # Dehradun

4. ¥ New Delhi

Question Number : 59 Question Id : 630680313621 Is Question Mandatory : No Calculator : None Response Time : N.A Think
Time : N.A Minimum Instruction Time : 0
Correct Marks : 1 Wrong Marks : 0.33

B DB 750 (A) S0BAW 5730 (R) §0, 80O 0D )57 DO OB (De5°5635°) AR, OO R.
DD & ED 0 (A): 275 (Khadar) FES0S TS OO 0L SIS ATDE ©LBIO.

528890 (R): 2755 (Khadar) (305065 65 0535 QBT 0Eron, IS0 §055 0 e S.
Options :

1. % A OO R e BO® e550 DO R @R A BBEY DB Dadden

2. % A 08050 R €0 O Db 570 R @9 A BwEy 0B D58 5°¢%0

3. % A D550 570 R @908 50

4. % A 0¢850 5% R Hebs0

Question Number : 59 Question Id : 630680313621 Is Question Mandatory : No Calculator : None Response Time : N.A Think
Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0.33

For the Assertion (A) and Reason (R) below, choose the CORRECT alternative from the following options.

Assertion (A): Khadar are fertile and are ideal for intensive agriculture.

Reason (R): The soil in khadar region contains calcareous deposits, locally known as kankar.
Options :

1. ¥ Both A and R are true and R is the correct explanation of A

2. % Both A and R are true but R is not the correct explanation of A

3. % A is true but R is false

4. % Ais false but R is true

Question Number : 60 Question Id : 630680313622 Is Question Mandatory : No Calculator : None Response Time : N.A Think
Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0.33
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Options :

1. ¥ I-a, II-b, IM-c
2. % 1-b, Il-a, I1l-c
3. ¥ I-a, II-c, I1I-b
4. % I, Il-a, II-b

Question Number : 60 Question Id : 630680313622 Is Question Mandatory : No Calculator : None Response Time : N.A Think
Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0.33

Options :

1. % I-a, II-b, Ill-c
2. ¥ I-b, 1I-a, Ill-c
3. % L, I, I1I-b
4. % I, II-a, IlI-b

Question Number : 61 Question Id : 630680313623 Is Question Mandatory : No Calculator : None Response Time : N.A Think
Time : N.A Minimum Instruction Time : 0
Correct Marks : 1 Wrong Marks : 0.33

B0 ¢3S 2P SHTIFOS” BNST @50 SRS E?
Options :

| ¥ 5ehHSaren DETS HIT0 5

2. ¢ BANST N DRAFISOM HDODES TODdhT 0N

3. % 50050 SOFS0S” QTHETOL O &0oEron
4. % B80T 3°¢3 938 (DD

Question Number : 61 Question Id : 630680313623 Is Question Mandatory : No Calculator : None Response Time : N.A Think
Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0.33

Which of the following is NOT a characteristic of the monsoon in India?

Options :

1. # Monsoons are not steady winds

2. % Monsoons are equally distributed

3. # Monsoons have breaks in rainfall

4. ¥ Monsoons are known for their uncertainties

Question Number : 62 Question Id : 630680313624 Is Question Mandatory : No Calculator : None Response Time : N.A Think

https://g06.tcsion.com/CAE/viewHtmIPDFAction.action 26/74



18/08/2023, 15:11 https://g06.tcsion.com/CAE/viewHtmIPDFAction.action
Time : N.A Minimum Instruction Time : 0
Correct Marks : 1 Wrong Marks : 0.33
Which of the following statement(s) is/are TRUE for Coriolis force and its effect?

1. The Coriolis force is an apparent force caused by the earth’s rotation.
II. The Coriolis force is responsible for deflecting winds towards the left in the northern hemisphere.
II1. The Coriolis effect is responsible for many large-scale weather patterns.

Options :

1. ¥ Il and III
2. % | 1l and III
3. % Tand Il

4. % Tand II

Question Number : 62 Question Id : 630680313624 Is Question Mandatory : No Calculator : None Response Time : N.A Think
Time : N.A Minimum Instruction Time : 0
Correct Marks : 1 Wrong Marks : 0.33

808 18X (@)SS FBTFOV 20 HBAW T (DTS H0DOEOD DehRSE/D JE/D?

1. 8GOV 20 OTE 25570 TEY; (2350690 IOS BT 2.8 IR 8.
11 83O 2200 &3S FF0S” PO s FIE BIITIE 237¢5eh SSaFNOA.
1L 833 (D270 ©9TE DR-T°0W FPEFIB eI OE) SE20) B0,

Options :

1. % 11 0005 IIT
2. % [ 11 0% I
3.9 10805 111
4. % 1 06A0 11

Question Number : 63 Question Id : 630680313625 Is Question Mandatory : No Calculator : None Response Time : N.A Think
Time : N.A Minimum Instruction Time : 0
Correct Marks : 1 Wrong Marks : 0.33

OR-FAAFS A ZB8oh SSrdren Ked> T RO:
Options :

1. ¥ d0oz3

2. ¥ HRTS

3. % HBH Borrd

4. % 35

Question Number : 63 Question Id : 630680313625 Is Question Mandatory : No Calculator : None Response Time : N.A Think
Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0.33

The shipbreaking yards in Alang-Sosiya are located in the state of:

Options :

1. ¥ Mumbai

2. ¥ Gujrat

3. ¥ West Bengal

4. % Kerala

Question Number : 64 Question Id : 630680313626 Is Question Mandatory : No Calculator : None Response Time : N.A Think
Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0.33

https://g06.tcsion.com/CAE/viewHtmIPDFAction.action 27174



18/08/2023, 15:11 https://g06.tcsion.com/CAE/viewHtmIPDFAction.action

Options :

1. ¥ 1-b, Il-c, Ill-a
2. % [a, II-b, ll-c
3. % I-a, Il-c, II-b
4. % I-c, II-b, IlI-a

Question Number : 64 Question Id : 630680313626 Is Question Mandatory : No Calculator : None Response Time : N.A Think
Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0.33

Options :

1. ¥ [-b, II-c, [lI-a
2. % I-a, II-b, III-c
3. # [-a, ll-c, II-b
4, % I¢ 1I-b, lll-a

Question Number : 65 Question Id : 630680313627 Is Question Mandatory : No Calculator : None Response Time : N.A Think
Time : N.A Minimum Instruction Time : 0
Correct Marks : 1 Wrong Marks : 0.33

808 HDELX(®) S SVITR 69 DIFIE HOOHOD H8 A DE/D?

L &SR Q) & AFE F0T75A8 (DD ToHOA.
IL 23353306 e5)TR €5ed 136S e30(HIDTBT e (rN.
Options :

1. ¥ 11 00550

2. % 1 S(edad

3. % T00AW IT e Bodsr

4. % 150 S 11570 DA 5°¢%0

Question Number : 65 Question Id : 630680313627 Is Question Mandatory : No Calculator : None Response Time : N.A Think
Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0.33

Which of the following statement(s) is/are INCORRECT for the mineral Asbestos?

I. Asbestos is known for its heat resistance capacity.
II. Andhra Pradesh is the leading producer of Asbestos in India.

Options :
1. % Only II
2. % Only I
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3. % BothIandII
4. % Neither I nor 11

Question Number : 66 Question Id : 630680313628 Is Question Mandatory : No Calculator : None Response Time : N.A Think
Time : N.A Minimum Instruction Time : 0
Correct Marks : 1 Wrong Marks : 0.33

58 20750 St SBD SOA:
Options :

1. % Ferdd

2. % 5238

3. ¥ 6D

4. % &S

Question Number : 66 Question Id : 630680313628 Is Question Mandatory : No Calculator : None Response Time : N.A Think
Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0.33

Gokak falls are located on the river:

Options :

1. ¥ Godavari

2. % Kaveri

3. ¥ Ghataprabha

4. % Son

Question Number : 67 Question Id : 630680313629 Is Question Mandatory : No Calculator : None Response Time : N.A Think
Time : N.A Minimum Instruction Time : 0
Correct Marks : 1 Wrong Marks : 0.33

808 [DELX(@)S HorP SOE 50220800 Deh50 S DE/D?

L 22035 Bomr SAQ 23500 SE e DENTED.

11 50T sDB050 (23572 I O DBIBDD 1IN0’ 0323 BEF NOBSEIS) @ DENTE.
Options :

1. % 11 So°(ehad

2. % 1080 IT e Bocsr

3. % 1520 S 11 5°Q & 5°¢0

4. ¥ T S5

Question Number : 67 Question Id : 630680313629 Is Question Mandatory : No Calculator : None Response Time : N.A Think
Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0.33

Which of the following statement(s) is/are NOT true for the river Ganga?

I. The river Ganga is known as the river Jamuna in Bangladesh.
II. The combined river of Ganga and Brahmaputra creates the World’s largest delta known as Sundarbans.

Options :

1. % Only IT

2. % BothIandII
3. # Neither I nor II
4. Only |

Question Number : 68 Question Id : 630680313630 Is Question Mandatory : No Calculator : None Response Time : N.A Think
Time : N.A Minimum Instruction Time :
Correct Marks : 1 Wrong Marks : 0.33

808 (D8 §H0:

1. 8650 @I FBBE0MT 3375330 DO IATONETAE HONFTH ed.
I 558 esEMsA8 Rradrre8s De3rdes §0 0B APeNBI0 €5330.
DB DODEX JOTHEFOR
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Options :
1. % T 30850 DB
2. ¥ 11 379530 DBID
3. % 10805 IT e Bodr OB O
4. % 108050 1T €0 BO” OB 50

Question Number : 68 Question Id : 630680313630 Is Question Mandatory : No Calculator : None Response Time : N.A Think
Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0.33

For the following statements:

I. Health is a state of being well enough to properly function only physically.
II. Social equality and harmony are necessary for individual health.

Choose the correct option
Options :

1. # Only I is correct

2. % Only Il is correct

3. ¥ Both I and II are correct

4. % Both I and II are incorrect

Question Number : 69 Question Id : 630680313631 Is Question Mandatory : No Calculator : None Response Time : N.A Think
Time : N.A Minimum Instruction Time : 0
Correct Marks : 1 Wrong Marks : 0.33

DERGTR BN '@ H0IPY' RN SO(GSNTTESQ JOFSEE TOAD TBEy B ABSew, /D 1851 ©0BS
AIDAS D000 es¥Be3cHom A Tow.

Options :

1% B

2. % 2038 (BhHew)
3. % 200D

4. ¥ SN

Question Number : 69 Question Id : 630680313631 Is Question Mandatory : No Calculator : None Response Time : N.A Think
Time : N.A Minimum Instruction Time : (0

Correct Marks : 1 Wrong Marks : 0.33

Farishkhani' and 'Ashunkhani' were two designs of of Eluru in Andhra Pradesh which became centre of attraction during London
Exhibition of 1851.

Options :

1. # Curtains
2. # Blankets
3. ¥ Bed Sheets
4. % Carpets

Question Number : 70 Question Id : 630680313632 Is Question Mandatory : No Calculator : None Response Time : N.A Think
Time : N.A Minimum Instruction Time : 0
Correct Marks : 1 Wrong Marks : 0.33

T(AFE) 553 £55EBED EAS DB IDD BDDBOD, 27aF (FBHEES S Beih SrErB 0[BT
TR0 DSEIR0D.

Options :

1. % 1948

2. % 1950

3.4 1953

4. % 1956

Question Number : 70 Question Id : 630680313632 Is Question Mandatory : No Calculator : None Response Time : N.A Think
Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0.33

The Telugu-speaking State of Andhra Pradesh was formed in on a linguistic basis, following the recommendations of the
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States’ Reorganisation Commission.
Options :
1. % 1948
2. %1950
3. 91953
4. % 1956

Question Number : 71 Question Id : 630680313633 Is Question Mandatory : No Calculator : None Response Time : N.A Think
Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0.33

The agreement signed in 1956 between the leaders of Telangana and Andhra before the formation of the state of Andhra Pradesh was
referred to as

Options :

1. ¥ Gentleman’s Agreement
2. % People’s Treaty

3. # Telugu State’s Treaty

4. % Bilateral Agreement

Question Number : 71 Question Id : 630680313633 Is Question Mandatory : No Calculator : None Response Time : N.A Think
Time : N.A Minimum Instruction Time : 0
Correct Marks : 1 Wrong Marks : 0.33

&S0(C (DTT TR0 DT°IENE SN0 1956 &' Be>0TPED sHBOSN 0(E (DTF P 00EEN DOSE0 T 20030
T DIV,

Options :

1. ¥ Q00O 2,000

2. % (DB 2,080

3. % Sentd O 200080

4. % I8 8 audyocdo

Question Number : 72 Question Id : 630680313634 Is Question Mandatory : No Calculator : None Response Time : N.A Think
Time : N.A Minimum Instruction Time : 0
Correct Marks : 1 Wrong Marks : 0.33

2PCTPRE FPOODD & DY HODNZTS I 235 DIB?
Options :

1. % Q0B $5°) O5rS S @NS-&H-Te>

2. % 506 @9¥)8 @O 7S ¥ o

3. % 208 HBom @O S TAHNE-Ter

4. ¢ DB H5ardS ©d g 557Gy

Question Number : 72 Question Id : 630680313634 Is Question Mandatory : No Calculator : None Response Time : N.A Think
Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0.33

Who was the youngest Asaf Jahi ruler of Hyderabad?

Options :

1. ¥ Mir Tahniyat Khan Afzal-ud-Daula

2. % Mir Akbar Ali Khan Sikandar Jah

3. # Mir Farkhunda Ali Khan Nasirud-Daula

4. % Mir Mahbub Ali Khan Bahadur

Question Number : 73 Question Id : 630680313635 Is Question Mandatory : No Calculator : None Response Time : N.A Think
Time : N.A Minimum Instruction Time : 0
Correct Marks : 1 Wrong Marks : 0.33

DB’ Q) 37¢TerE Q230 50 arerd 2300 H0EN020 (NP0 E SDJOE?
Options :

1. ¢ 208 HB0m @0 S TAHE-Ter

2. % Q0B 537°) O S S @90S-H-Te>

3. % Q230-6 -0

4. % Q230 @O S
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Question Number : 73 Question Id : 630680313635 Is Question Mandatory : No Calculator : None Response Time : N.A Think
Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0.33

During the time of which of these Nizam of Hyderabad the Salar Jung family came into prominence?

Options :

1. ¥ Mir Farkhunda Ali Khan Nasirud-Daula

2. # Mir Tahniyat Khan Afzal-ud-Daula

3. # Nizam-ul-Mulk

4. % Nizam Ali Khan

Question Number : 74 Question Id : 630680313636 Is Question Mandatory : No Calculator : None Response Time : N.A Think
Time : N.A Minimum Instruction Time : 0
Correct Marks : 1 Wrong Marks : 0.33

195665, €30(& (HTT OIS DEDZST D20 FrGS TS D23 S .
Options :
1. ¥ 310
2.9 301
3. % 331
4. % 351

Question Number : 74 Question Id : 630680313636 Is Question Mandatory : No Calculator : None Response Time : N.A Think
Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0.33

In 1956, the Andhra Pradesh Legislature was Unicameral with only a Legislative Assembly consisting Members.

Options :

1. % 310

2.% 301

3. % 33]

4, % 351

Question Number : 75 Question Id : 630680313637 Is Question Mandatory : No Calculator : None Response Time : N.A Think
Time : N.A Minimum Instruction Time : 0
Correct Marks : 1 Wrong Marks : 0.33

I F® FBHOD GBR0D T°) 20537550 S0C0ETE NTBIO0KHO HOEN TR0 H(EE DE?
Options :

1. % 2reda>®d

2. % JBESAD

3. ¢ OB SO

4% 5955509

Question Number : 75 Question Id : 630680313637 Is Question Mandatory : No Calculator : None Response Time : N.A Think
Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0.33

Which of these was a magazine founded by Rao Bahadur Kandukuri Veereslingam Panthulu to cater to women readers?

Options :

1. # Hitavadi

2. # Vivekavardhini

3. % Satihita Bodhini

4. ¥ Hasyavardhini

Question Number : 76 Question Id : 630680313638 Is Question Mandatory : No Calculator : None Response Time : N.A Think
Time : N.A Minimum Instruction Time : 0
Correct Marks : 1 Wrong Marks : 0.33

350205 17, 190705 SHDODHE) 06 30(C325730D VT8 HOABD DB FPDOTTED?
Options :

1. % 880 SOEEI°LD IO

2. ¥ FIB 5705006 T Do
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3. % §& 070578 P asnedd
4. % DO 9T )T

Question Number : 76 Question Id : 630680313638 Is Question Mandatory : No Calculator : None Response Time : N.A Think
Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0.33

Who established Andhra Jatheeya Vidya Parishad on November 17, 1907 in Machilipatnam?

Options :

1. # Dwaram Venkataswami Naidu

2. % Kopalle Hanumantha Rao Pantulu

3. # Kodi Rammurthy Naidu

4. # Gurajada Apparao

Question Number : 77 Question Id : 630680313639 Is Question Mandatory : No Calculator : None Response Time : N.A Think
Time : N.A Minimum Instruction Time :
Correct Marks : 1 Wrong Marks : 0.33

3R FOXNE S5BBEOMT 28RS DIPOD QT*EBED €5¢ 558 s €30(E (DTTES'Q ) B’ AB2HEN, 29
BN Y "eEdD) DT HFN" DS SITOTR, FLIE) 553 HHYOD 3065 G0 TOOHHOT e9¢hHS8
DOTB?

Options :

1. % $5r&) Ferdd

2. ¥ (HOGS

3. % §yor

4. % D280

Question Number : 77 Question Id : 630680313639 Is Question Mandatory : No Calculator : None Response Time : N.A Think
Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0.33

In which district of Andhra Pradesh, tribals and poor peasants staged a number of “forest satyagrahas”, sometimes sending their cattle into
forests without paying grazing fee in support of non-cooperation movement against British rule?

Options :

1. ¥ East Godavari
2. ¥ Guntur

3. # Krishna

4. % Prakasham

Question Number : 78 Question Id : 630680313640 Is Question Mandatory : No Calculator : None Response Time : N.A Think
Time : N.A Minimum Instruction Time : 0
Correct Marks : 1 Wrong Marks : 0.33

QB)d 37850 (A) HOAN 5°B0 (R) @ 08303 (80 B0 (HEEISEL D000 OB DODER JOTHEOR.
A: 195685" @0(BIDTT IBITBE38 S0(BINTT T ROS” DEZT B B80S &) (P00 Are> IO e 51 ©F©
Q8T

R: (3372 S°0TT e30(QAINTBT 3G HOE BEadTHOMT EHNR0E.

Options :

1. % A B0 R €0 BOGY AADEM Oeb50 SO R @R A B8y OB DdSen

2. ¥ A B0 R @0 BOGY AAJAT D850, P R 9 A gy, DB D5Bed 5°¢0

3. % A D850 57 R @90eb50

4. % A @050 5% R D550

Question Number : 78 Question Id : 630680313640 Is Question Mandatory : No Calculator : None Response Time : N.A Think
Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0.33

Select the option that is true regarding the following two statements labelled Assertion (A) and Reason (R).

A: The gross area irrigated in Andhra Pradesh state was about 51 lakh acres under irrigation at the time of the formation of Andhra
Pradesh in 1956.

R: Irrigation cover of Andhra Pradesh has substantially improved over the decades.

Options :
1. ¥ Both A and R are individually true, and R is the correct explanation of A
2. ¥ Both A and R are individually true, but R is not the correct explanation of A
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3. % A is true but R is false
4. % A is false but R is true

Question Number : 79 Question Id : 630680313641 Is Question Mandatory : No Calculator : None Response Time : N.A Think
Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0.33

Options :

1. ® I-a, Il-c, IlI-b
2. % I-b, [I-c, II-a
3. % I, II-b, ll-a
4. % 1-b, II-a, Ill-c

Question Number : 79 Question Id : 630680313641 Is Question Mandatory : No Calculator : None Response Time : N.A Think
Time : N.A Minimum Instruction Time :

Correct Marks : 1 Wrong Marks : 0.33

Options :

1. ¥ I-a, Ill-c, IlI-b
2. % Lb, ll-c, lll-a
3. % I-c, II-b, Il-a
4. ¥ [-b, II-a, II-c

Question Number : 80 Question Id : 630680313642 Is Question Mandatory : No Calculator : None Response Time : N.A Think
Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0.33

B &S 09O gTS 23D 00D 23 VII § H022050D OB (D888 H80t50&?

L 19400 &O T FS” US$2 DOONR DOISS [DND0VOS S 955085 (3 9S0SEM™ B STEHBES 195¢3008.
I 191765 375072 ES” F0BQTHS Fa0tI06S SOE|ch SFA0TTE.

1L ¢ T TS |HTFSOM ©8) FOAIN DHE SN0 D SDTFSON0, DTSR SFOST DF ST 5HANO
FOSSI.

Options :

1. % T80 I e S5°(bad

2. % 1 B0 I e S5

3.9 108050 IIT €0 S5 ehadd

4. % 1110005 111

Question Number : 80 Question Id : 630680313642 Is Question Mandatory : No Calculator : None Response Time : N.A Think
Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0.33

Identify the CORRECT statements with regards to Mir Osman Ali Khan Bahadur Asaf Jah VII?
1. He was pronounced the world’s richest man by TIME Magazine with a fortune of US$2 billion in the early 1940s.
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II. He was instrumental in setting up Santiniketan in Hyderabad in the year 1917.
II1. Major beneficiaries of his donations were Aligarh Muslim University, Banaras Hindu University etc.

Options :

1. # Only [ and II
2. % Only II and 111
3. % Only I and IIT
4. % I, 11 and 11T

Question Number : 81 Question Id : 630680313643 Is Question Mandatory : No Calculator : None Response Time : N.A Think
Time : N.A Minimum Instruction Time : 0
Correct Marks : 1 Wrong Marks : 0.33

S0(BIDTT HSE I5IVEBE 50, 201465° O VE.SS’ DT WOBLIOTE ‘BOOMTED OO e0(BSIDTT TaFe>E
2POTTE GONREA TEER’ @R d0NE e ) I0D0E?

Options :

1. % QES2

2. %83

3. %804

4. DESS

Question Number : 81 Question Id : 630680313643 Is Question Mandatory : No Calculator : None Response Time : N.A Think
Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0.33

Which section of The Andhra Pradesh Reorganisation Act, 2014 made provision ‘Hyderabad to be common capital for States of Telangana
and Andhra Pradesh’ for such period not exceeding ten years?

Options :

1. ¥ Section 2
2. % Section 3
3. # Section 4
4. % Section 5

Question Number : 82 Question Id : 630680313644 Is Question Mandatory : No Calculator : None Response Time : N.A Think
Time : N.A Minimum Instruction Time : 0
Correct Marks : 1 Wrong Marks : 0.33

D258 202165° 385 200(E3¢8 § T 950D D20 ABIODD NS B0 HOD)L B THEIS o (RO
SO(PNTT ©955830D0A.

Options :

1. % J0cdes

2. ¥ BOS

3. % 200°C65

4. % 3P0

Question Number : 82 Question Id : 630680313644 Is Question Mandatory : No Calculator : None Response Time : N.A Think
Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0.33

Andhra Pradesh has become the State to undertake the power sector reforms stipulated by the Department of Expenditure,
Ministry of Finance in February 2021.

Options :

1. ® First
2. ¥ Second
3. # Third
4. ® Fourth

Question Number : 83 Question Id : 630680313645 Is Question Mandatory : No Calculator : None Response Time : N.A Think
Time : N.A Minimum Instruction Time : 0
Correct Marks : 1 Wrong Marks : 0.33

DR SO(GPINTBTS” 10 VIO & D055 IS0’ (TS0 ROE?
Options :
1. % 2010
2.4 2011
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3. %2014
4. % 2015

Question Number : 83 Question Id : 630680313645 Is Question Mandatory : No Calculator : None Response Time : N.A Think
Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0.33

In which year, MeeSeva started with 10 services in Andhra Pradesh?

Options :

1. % 2010

2.9 2011

3. %2014

4. % 2015

Question Number : 84 Question Id : 630680313646 Is Question Mandatory : No Calculator : None Response Time : N.A Think
Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0.33

QB)d 37850 (A) HOAN S°B0 (R) @ 08I0RS (80 B0 (HEEIE HOD0HOD) OB DOVE JOTHTOR.
A: DTN DB EDS) S5 58 JOOR TR 2015-20 Y50 EOBS Gard 955 N0 5,000 T°5°
S0 DY 0TIB0 ©F SO DENZOA.

R: DTN 08050 GRS S5 sE)800 re>ad 2015-20 &8 S50 2020 3°¢38 $H0 20,000 §E) §°¢ 2ENCREOD
3880 ©F SO DEPZOB.

Options :

1. % A B0 R €0 BOY” AADAM Oeb50 SO R 9T A TBEY OB DdSen

2. ¥ A B0 R €0 BOGY AAJAT D850, P R 9 A gy, DB DB 5°¢0

3. % A D$50 5°Q R @9¢550

4. % A @050 5% R D50

Question Number : 84 Question Id : 630680313646 Is Question Mandatory : No Calculator : None Response Time : N.A Think
Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0.33

Select the option that is true regarding the following two statements labelled Assertion (A) and Reason (R).

A: The Aerospace and Defence Manufacturing Policy 2015-20 aims to generate at least 5,000 additional highly skilled employment
opportunities.

R: The Aerospace and Defence Manufacturing Policy 2015-20 aims to attract new investments of at least 20,000 crores in this sector by
2020.

Options :

1. # Both A and R are individually true, and R is the correct explanation of A

2. % Both A and R are individually true, but R is not the correct explanation of A
3. % Ais true but R is false

4. % A s false but R is true

Question Number : 85 Question Id : 630680313647 Is Question Mandatory : No Calculator : None Response Time : N.A Think
Time : N.A Minimum Instruction Time : 0
Correct Marks : 1 Wrong Marks : 0.33

B)d 850 (A) HOAN S°B0 (R) @ 08303 (80 B0 (HEEISE) D000 DB DODER JOTHEOR.
A: 23S 202365, SO(QIITBT S D3 12 T°(aTe 308 S00(&3¢ § T O DS 3080 HOKY B 80 B, 66,413
88 (DFEr)sTrseen e0EIT") 0.

R: e30(Q(NTTEL 965 §HZOM 15,000 &) (e )57E0 D00,

Options :

1. % A B0 R €0 BOGY” AADEM e300 SO R @ A T8y OB Ddden

2. % A S0 R €0 BOGYT AAJAT Oe850, P R 9 A TBwE), DB DB 5°C0

3. ¢ A %50 5°Q R @9¢550

4. % A @050 5% R D50

Question Number : 85 Question Id : 630680313647 Is Question Mandatory : No Calculator : None Response Time : N.A Think
Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0.33

Select the option that is true regarding the following two statements labelled Assertion (A) and Reason (R).
A: In June 2023, 12 States including Andhra Pradesh received Rs. 66,413 crore incentives for Reforms in Power Sector from Ministry of
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Finance.
R: Andhra Pradesh received the highest incentive of about 15,000 crores.

Options :

1. ¥ Both A and R are individually true, and R is the correct explanation of A

2. % Both A and R are individually true, but R is not the correct explanation of A
3. % As true but R is false

4. % A is false but R is true

Question Number : 86 Question Id : 630680313648 Is Question Mandatory : No Calculator : None Response Time : N.A Think
Time : N.A Minimum Instruction Time : 0
Correct Marks : 1 Wrong Marks : 0.33

BRES H0S$E0 TAD IPBEOZ NS 18050 e0B0IEE SHEASN DA Ve SIrBY 598
DOTIE DB BOSEE S5, DI TAHEE 0[BT (5929690 &) H03e5 1306 e30|I(HTT
BAITIAS TS 028 D20 (DO|FTT HE D BOXE) 2526 T0E?

Options :

1. % 2009

2. %2010

3.9 2011

4. % 2014

Question Number : 86 Question Id : 630680313648 Is Question Mandatory : No Calculator : None Response Time : N.A Think
Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0.33

In which year, Government of Andhra Pradesh issued Andhra Pradesh Information Technology Rules (Electronic Service Delivery) in
order to provide legal sanctity to the digitally signed certificates and make it mandatory for the Departments to migrate to electronic
service delivery within a period of three years?

Options :
1. ¥ 2009
2. %2010
3.9 2011
4. % 2014

Question Number : 87 Question Id : 630680313649 Is Question Mandatory : No Calculator : None Response Time : N.A Think
Time : N.A Minimum Instruction Time : 0
Correct Marks : 1 Wrong Marks : 0.33

B0E5¢3 5036835065 BOJBS T ST° NV 3L OA0TOCHE BIITIAS BIS*) 28, DTS 0835w
E300sABAS) (IT&C) D2rtio & £ HA T0H.

Options :

1. % &ae3D Senth

2. ¢ 0 63D

3. % OS5l ¢3D

4. % B 3D

Question Number : 87 Question Id : 630680313649 Is Question Mandatory : No Calculator : None Response Time : N.A Think
Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0.33

Information Technology, Electronics and Communications (IT&C) Department collaborated with to impart MeeSeva trainings in
its initial year through television.

Options :

1. ¥ ETV TELUGU
2. % MANA TV

3. % DIVYAVANI TV
4. % GEMINITV

Question Number : 88 Question Id : 630680313650 Is Question Mandatory : No Calculator : None Response Time : N.A Think
Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0.33
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Options :

1. ¥ I-a, II-b, I1l-c
2. % La, Il-c, IlI-b
3. % I-c, ll-a, lII-b
4. % I-b, II-a, IlI-c

Question Number : 88 Question Id : 630680313650 Is Question Mandatory : No Calculator : None Response Time : N.A Think
Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0.33

Options :

1. ¥ [-a, 1I-b, lll-c
2. % I-a, Il-c, III-b
3. ¥ I-c, II-a, I1I-b
4, % 1, I-a, lll-c

Question Number : 89 Question Id : 630680313651 Is Question Mandatory : No Calculator : None Response Time : N.A Think
Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0.33

Options :

1. # I-a, II-c, II-b
2. % I-b, II-c, [1I-a
3. % I, II-b, Ill-a
4, % Ib, Il-a, lll-c

Question Number : 89 Question Id : 630680313651 Is Question Mandatory : No Calculator : None Response Time : N.A Think
Time : N.A Minimum Instruction Time : 0
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Correct Marks : 1 Wrong Marks : 0.33

Options :

1. ¥ I-a, Il-c, IlI-b
2. ¥ b, Ilc, lll-a
3. % I-c, II-b, ITI-a
4. % Lb, II-a, -c

Question Number : 90 Question Id : 630680313652 Is Question Mandatory : No Calculator : None Response Time : N.A Think
Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0.33

Options :

1. ® I-a, Il-c, ITI-b
2. % I-b, Il-c, Ill-a
3. % I-c, II-b, IlI-a
4. [-b, Il-a, lll-c

Question Number : 90 Question Id : 630680313652 Is Question Mandatory : No Calculator : None Response Time : N.A Think
Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0.33

Options :

1. ® I-a, II-c, ITI-b
2. % I-b, II-¢, I1l-a
3. ¥ I-c, II-b, II-a
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4. % 1-b, 1l-a, 1ll-c

Question Number : 91 Question Id : 630680313653 Is Question Mandatory : No Calculator : None Response Time : N.A Think
Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0.33

Which of these provisions were laid down in Legal and Miscellaneous Provisions in Part XII of the Andhra Pradesh Reorganization Act,
20147

I. Amendment of article 371D of the Constitution.

II. Amendment of article 168 of the Constitution

III. Amendment of article 56 of the Constitution

Options :

1. % Only [ and I
2. % Only II and 111
3. % Only I and III
4, % 1, Il and III

Question Number : 91 Question Id : 630680313653 Is Question Mandatory : No Calculator : None Response Time : N.A Think
Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0.33

S0(BDTT HSE S5IVEBE 50, 201465° D20 XIS D HLDETS BN WSS D220BSOES” B
25053063 D ATI0TITON?

L. 0°25005065° eSS0 371 D HdSea.

IL. T°2S0K0S Q) 9SS0 168 DdSed

111 T°23*S050S° Q) e9OEBEI0 56 DSBED

Options :

1. ¥ 108050 1T €0 357 ehadd

2. % 1108050 IIT € S5 add

3. % 108050 I €0 S5 ehadd

4. % 111 0005 111

Question Number : 92 Question Id : 630680313654 Is Question Mandatory : No Calculator : None Response Time : N.A Think
Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0.33

Which of the following are TRUE about the provision in section 91 of the Andhra Pradesh Reorganization Act, 2014 which mentions
‘Polavaram Irrigation Project to be a national project’?

L. It is hereby declared that it is expedient in the public interest that the Union should take under its control the regulation and development
of the Polavaram Irrigation Project for the purposes of irrigation.

II. The consent for Polavaram Irrigation Project shall be deemed to have been given by the successor State of Telangana.

II1. The Central Government shall execute the project and obtain all requisite clearances including environmental, forests, and
rehabilitation and resettlement norms.

Options :

1. % Only I and II
2. % Only I and 111
3. % Only I and IIT
4. 1,11 and 111

Question Number : 92 Question Id : 630680313654 Is Question Mandatory : No Calculator : None Response Time : N.A Think
Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0.33

806 T3S e0QINTT DB $55VEBE 50, 201465 E.S 9165 < FOIS0 DEZF B (FBE 0 2SO
BB T 082008, A2V0IE 0200 DA Hebg0?

1. D3P (HTFBT §H0 FXHE0 AEIFEAE (BT gy AONO(hEd OAN @NSHA o(&(H80eh 50
55 QONO|HISE BNETO (D23 (DTFBTE Hgals A (HTIBSEBD A & 50° (DEE30HDE0.

I F3E0 DS (BFPBIE0 86 § T30 0N BEOTTED TR0 53 Do A JSENT
N8R0TS0 OA.

T11. OS5 (552565 50 &5 [P BIVD €963 DO OO DT°53EED, €659 DO HST*a3D VORI DI
©IITRS @) NN FoTd.

Options :

1. % 100050 I e S5°(ehad

2. % 1 B0 I e S5 (bad

3. % 108050 1T e S5 ehadd
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4.9 1,11 0O 111

Question Number : 93 Question Id : 630680313655 Is Question Mandatory : No Calculator : None Response Time : N.A Think
Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0.33
The Andhra Pradesh Reorganization Act, 2014 bifurcated the erstwhile State of Andhra Pradesh into two separate States of Andhra
Pradesh & Telangana in 2014.

Options :
1. # March
2. % April
3. % May
4. % June

Question Number : 93 Question Id : 630680313655 Is Question Mandatory : No Calculator : None Response Time : N.A Think
Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0.33

S0(SHTT HSE $53VEGE 50, 2014 201465 35§29 S0(SINTS T°(aFQ), SO(PITT & BOOTET 0=
B0 30 SE T°aLeN™ D3B0D0A.

Options :

1. % 338)

2. % QDS

3%

4. 27

Question Number : 94 Question Id : 630680313656 Is Question Mandatory : No Calculator : None Response Time : N.A Think
Time : N.A Minimum Instruction Time :

Correct Marks : 1 Wrong Marks : 0.33

QRN 850 (A) 0B8N S°BEI0 (R) I DT I0R (80 BOK (DEEIIDE H020E0D OB DODED DO 0R.
S$SRTON0, BTSSR0, DEVIOF3, HDDDOSTE, e 5518, 0065 Y5O Fe0, 959D 558 e300 201465
SO|BIDTT (D20eb 0 T° 07 (DFEI0NDAS 3 56550 (D50

A: @8O(JNTT O7(al Q8 HHHE 758 €59 HOAN a5 TG ET°§e0 S,

R: 2523 De0AHOS” Iead) 8 2T3rerBES 8386,) AAVETSE B0 T°lalAE TEronotdnB0A.

Options :

1. ¥ A OO R €0 BO® AADEM™ Oeb50 R 936 A BNEY OB DdBed

2. % A 08050 R €0 BOKY AR H¢850, 5 R 9 A TSy OB DB 5°¢0

3. % A D550 570 R @90¢850

4. % A 0550 52 R Oeb50

Question Number : 94 Question Id : 630680313656 Is Question Mandatory : No Calculator : None Response Time : N.A Think
Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0.33

Select the option that is true regarding the following two statements labelled Assertion (A) and Reason (R) as per White Paper on
Agriculture, Horticulture, Sericulture, Animal Husbandry, Dairy, Fisheries and Agricultural Marketing by Govt. of Andhra Pradesh in
2014

A: The state of Andhra Pradesh is deprived of Livestock Vaccine Production and Disease Diagnostic facilities.

R: Veterinary Biological Research Institute devolved to Telangana state during bifurcation.

Options :

1. ¥ Both A and R are individually true, and R is the correct explanation of A

2. ¥ Both A and R are individually true, but R is not the correct explanation of A
3. % Ais true but R is false

4. % Ais false but R is true

Question Number : 95 Question Id : 630680313657 Is Question Mandatory : No Calculator : None Response Time : N.A Think
Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0.33

Andhra Pradesh government in December 2022 moved to the Supreme Court seeking directions for expeditious division of assets included
in the of the AP State Reorganisation Act 2014.

Options :
1. ¥ Schedule V and Schedule VI
2. % Schedule VI and Schedule VII
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3. % Schedule VII and Schedule VIII
4. % Schedule IX and Schedule X

Question Number : 95 Question Id : 630680313657 Is Question Mandatory : No Calculator : None Response Time : N.A Think
Time : N.A Minimum Instruction Time :
Correct Marks : 1 Wrong Marks : 0.33

AP T3 D)3 855085 €0 201465° S TEIED SO ¢ §8KHES D25B0ITIE STT D Soehre
2022 AR08 0|BSNTT 1925065 50 DO e3(F000D0A.

Options :

1. % 22805 V 0O 0O VI

2. % 005D VI DO 0TSO VII

3. % 68075 VII DA 2185 VIII

4. ¥ 2855 IX 08050 2csrsd X

Question Number : 96 Question Id : 630680313658 Is Question Mandatory : No Calculator : None Response Time : N.A Think
Time : N.A Minimum Instruction Time : 0
Correct Marks : 1 Wrong Marks : 0.33

808 ¢3" AP-BOOMTED 3N D23 D0DOBOD A& (D) DBIE/D?

1. 20236 T°S0DTE ST €955)S 28y T ST PN TS DEIASES’ e3> D25e3 23BHENHB0 SO
SBOOTPEIZD 2000 23NN AP [5250¢5 50 DIRN0 TVOR.

IL D252 ST ¢5 TTa) 91% 3 NEN 37CITrES’ €Y 00 (J°8£5) €502 T°(aFE T°ird), /A 2 )
BSOS GOd.

Options :

R NV SN

2. % 11 S0°(eHad

3. ¥ 108CW IT e Bocskr

4, % 1520 S 11570 DA 5260

Question Number : 96 Question Id : 630680313658 Is Question Mandatory : No Calculator : None Response Time : N.A Think
Time : N.A Minimum Instruction Time : 0
Correct Marks : 1 Wrong Marks : 0.33

Which of the following is/are CORRECT with respect to division of AP-Telangana assets?

I. The AP government’s plea filed through advocate Mahfooz Ahsan Nazki in 2023 says that non division of assets is clearly to the benefit
of Telangana.

I1. After bifurcation about 91% of assets are situated in Hyderabad (the Capital of the erstwhile combined state), which is now in
Telangana.

Options :

1. % Only1

2. % Only I

3. % Both I and II
4. % Neither I nor 11

Question Number : 97 Question Id : 630680313659 Is Question Mandatory : No Calculator : None Response Time : N.A Think
Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0.33

Which of these lakes is in Andhra Pradesh?

Options :

1. ¥ Loktak Lake

2. ¥ Vembanad Lake

3. % Kolleru Lake

4. % Chilka Lake

Question Number : 97 Question Id : 630680313659 Is Question Mandatory : No Calculator : None Response Time : N.A Think
Time : N.A Minimum Instruction Time : 0
Correct Marks : 1 Wrong Marks : 0.33

DEIS’ D DB SO (NTTS’ &od?
Options :

1. ® S'E5 DB

2. % J0270°% OBM)
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3. ¢ £BS HE0)
4. % Qe BN

Question Number : 98 Question Id : 630680313660 Is Question Mandatory : No Calculator : None Response Time : N.A Think
Time : N.A Minimum Instruction Time : 0
Correct Marks : 1 Wrong Marks : 0.33

201465° D528 ST 565, 2THDE DTS e30(SHTT T°505 DOeh?
Options :
1. ¥ 65
2. % 75
3. ¥ 85
4. % 95

Question Number : 98 Question Id : 630680313660 Is Question Mandatory : No Calculator : None Response Time : N.A Think
Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0.33

After bifurcation in 2014, what is the rank of Andhra Pradesh in terms of geographical area?

Options :

1. % 6th

2. % 7th

3. ¥ 8th

4. % 9th

Question Number : 99 Question Id : 630680313661 Is Question Mandatory : No Calculator : None Response Time : N.A Think
Time : N.A Minimum Instruction Time : 0
Correct Marks : 1 Wrong Marks : 0.33

2r8HTBI0S TrlaresS’ &0l (HTBT TS BEFoe) $DA &0d.
Options :

1. ¥ BOCsS

2. % 00°C8d

3. % P00

4. % 0859

Question Number : 99 Question Id : 630680313661 Is Question Mandatory : No Calculator : None Response Time : N.A Think
Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0.33

Andhra Pradesh has the longest coastline among the States of India.

Options :

1. ¥ Second

2. % Third

3. % Fourth

4. ® Fifth

Question Number : 100 Question Id : 630680313662 Is Question Mandatory : No Calculator : None Response Time : N.A Think
Time : N.A Minimum Instruction Time : 0
Correct Marks : 1 Wrong Marks : 0.33

Q3)ed 37850 (A) HOAN 5°BI0 (R) @ 08I0RS (80 BOE (HEEIE) HOD0HOD) OB DOVE JOTHEOR.
A: SO|SDTTS” QBT (B3 BEIBEST OO SDBHA SN o) ON.

R: SO(SHNTBTSD 88 FOS” 8065 B0 OO OHFAN DD G O,

Options :

1. % A 000N R €0 BOE® QAIAM Oeb50 o080 R 9O A BBE) OB Dadded

2. ¥ A B0 R @0 BOGY DAJEAT D850, P R 9 A TBnE), DB DB 5°C0

3. % A D$50 5°Q R @90¢550

4. % A @050 55 R D50

Question Number : 100 Question Id : 630680313662 Is Question Mandatory : No Calculator : None Response Time : N.A Think
Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0.33
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Select the option that is true regarding the following two statements labelled Assertion (A) and Reason (R).
A: Andhra Pradesh has mostly red lateritic and black soil.
R: These soils in Andhra Pradesh has low fertility and salinity problems.

Options :

1. ¥ Both A and R are individually true, and R is the correct explanation of A

2. % Both A and R are individually true, but R is not the correct explanation of A
3. % Ais true but R is false

4. ® Ais false but R is true

Question Number : 101 Question Id : 630680313663 Is Question Mandatory : No Calculator : None Response Time : N.A Think
Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0.33

Select the option that is true regarding the following two statements labelled Assertion (A) and Reason (R).
A: Kadapa district in Andhra Pradesh is most famous for occurrence of Mica.
R: The Nellore pagmatites are broadly classified into productive pagmatites and un-productive pagmatites.

Options :

1. # Both A and R are individually true, and R is the correct explanation of A

2. # Both A and R are individually true, but R is not the correct explanation of A
3. % Ais true but R is false

4.+ A s false but R is true

Question Number : 101 Question Id : 630680313663 Is Question Mandatory : No Calculator : None Response Time : N.A Think
Time : N.A Minimum Instruction Time : 0
Correct Marks : 1 Wrong Marks : 0.33

B)ed 850 (A) HOAN 5°B0 (R) @ 08303 (80 B0 (HEEISE) D000 OB DODER JOTHEFOR.
A: SO(BIDBTS'Q §65D 28° 5E0 9¢850¢h DV ToBOA.

R: BSOS PRSP BIE N QPO Ge )8 P TIEIeN sHBO5N 9@ )58 RS e SG5805d T om.
Options :

1. % A HBAW R e BOGF DAIEM Oeb50 08O R @9 A G30EY OB Deded

2. % A 8050 R €0 BOKY AR H¢850, 5 R @9 A BB0EY OB DB 5°¢0

3. % A D550 5°Q R @90¢5 50

4. % A @050 5 R Db 50

Question Number : 102 Question Id : 630680313664 Is Question Mandatory : No Calculator : None Response Time : N.A Think
Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0.33

Options :

1. % I-a, II-b, Ill-c
2. % I-b, Il-c, IlI-a
3. ¢ L-a, I, 111-b
4. ® I-b, Il-a, Ill-c

Question Number : 102 Question Id : 630680313664 Is Question Mandatory : No Calculator : None Response Time : N.A Think
Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0.33
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Options :

1. # I-a, II-b, II-c
2. % I-b, Il-¢, Ill-a
3. ¥ I-a, lI-c, II-b
4. % I-b, Il-a, ll-c

Question Number : 103 Question Id : 630680313665 Is Question Mandatory : No Calculator : None Response Time : N.A Think
Time : N.A Minimum Instruction Time : 0
Correct Marks : 1 Wrong Marks : 0.33

Which of the following are CORRECT about Soil type in Andhra Pradesh?

I. The skeletal soils are found in the Nallamala slopes of Badvel of Cuddapah, Giddalur of Prakasam and a smaller patch in the
Jammalamadugu of Cuddapah district.

I1. Lateritic soils are well suited for horticulture and also production of pulses and oilseeds.

III. A greater part of the Telangana and Rayalaseema districts and the upland segment of Nellore, Prakasam, Guntur, West Godavari, East
Godavari, Vishakapatnam and Srikakulam are covered by black soils.

Options :

1. ¥ Only [ and II
2. % Only II and III
3. % Only I and IIT
4. % [, 11 and I

Question Number : 103 Question Id : 630680313665 Is Question Mandatory : No Calculator : None Response Time : N.A Think
Time : N.A Minimum Instruction Time : 0
Correct Marks : 1 Wrong Marks : 0.33

808 &3S SoIIHTBTS’ Se> 350 HBOD DBIE AE?

L 2, 8LS Seen §3I6°Q 28 55°Q SO eno e, (95°5065°Q ARORSEES SHBA5N §¢h e’
23630200 28 DY, (0S50S DT OW.

I ee8¢38 Ten SO DONTIE OGN HDYIQRNNEN, S AoBe eds 188 2 HONPe ow.

111 SOTTED BN TANOIX B’ JB02.S 20 OGN T, (DSF0, MHOEIPED, DY A8,
STEIFT8, DFPNEIY0 HOOW (FSHF0S QD &) FoTen SOBHG TOOS §0)20G o) ow.

Options :

1. ¥ T 00050 1T e S7°(¢h a0
2. % 11 308050 IIT €0 S5 add
3. % 108050 T €0 So(ehadd
4. % T 1108050 111

Question Number : 104 Question Id : 630680313666 Is Question Mandatory : No Calculator : None Response Time : N.A Think
Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0.33

Options :
1. # I-a, II-b, IlI-c
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2. % I-b, Il-c, IlI-a
3. # Ic, II-b, Ill-a
4. % 1-b, II-a, Ill-c

Question Number : 104 Question Id : 630680313666 Is Question Mandatory : No Calculator : None Response Time : N.A Think
Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0.33

Options :

1. % I-a, II-b, Ill-c
2. % Lb, ll-c, lll-a
3. % I-c, II-b, IlI-a
4. ¥ I-b, I-a, ll-c

Question Number : 105 Question Id : 630680313667 Is Question Mandatory : No Calculator : None Response Time : N.A Think
Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0.33

Options :

1. % I-a, II-b, Ill-c
2. % Lb, ll-c, lll-a
3. % I-c, II-b, IlI-a
4. ¥ [-b, II-a, II-c

Question Number : 105 Question Id : 630680313667 Is Question Mandatory : No Calculator : None Response Time : N.A Think
Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0.33

Options :
1. # I-a, II-b, Ill-c
2. % I-b, Il-c, Ill-a
3. ¥ I-c, II-b, ITl-a
4. % 1-b, Il-a, Ill-c
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Question Number : 106 Question Id : 630680313668 Is Question Mandatory : No Calculator : None Response Time : N.A Think
Time : N.A Minimum Instruction Time : 0
Correct Marks : 1 Wrong Marks : 0.33

Which of the following are CORRECT about Vegetation of Andhra Pradesh?
1. Eastern Ghats region of the State is home to dense tropical forests.

II. The shrub vegetation is more common in the Deccan Plateau.

I11. Red Sanders (Pterocarpus santalinus) is endemic to Andhra Pradesh.

Options :

1. % Only [ and II
2. % Only II and III
3. # Only I and IIT
4.9 [, 11 and 11T

Question Number : 106 Question Id : 630680313668 Is Question Mandatory : No Calculator : None Response Time : N.A Think
Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0.33

808 3" SOINTT 598,009 HBOD HBSE DE?

L T QOSSR S350 E0600 (P00 SHEITS G0 e¢se)OB0 AOONO.
IL 3983 & DBBFNES’ & 998 D0DCE D80S DO,

1. B& 0B (Pterocarpus santalinus) 0[S (DT3B 50 TOAIA.

Options :

1. % 100050 1T e S5°(¢had

2. % 1308050 I €0 S5 add

3. % 108050 I €0 S(¢hadd

4.9 1, 11 8% 111

Question Number : 107 Question Id : 630680313669 Is Question Mandatory : No Calculator : None Response Time : N.A Think
Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0.33

808 ¢3S’ SO(GSNTTS' (B TOEEIF G 20D STT59930 sHBAN 9255 BES0 HBOD DB DN?

I B 053505 20D ST8363:90 0B050 €92305TGEES0 (V0TS0 FartIer0 FOEOE S5 TOAS RS,
0SB0V FEAD) DN, 23068 2PHHDOE NSO AarD0.

11 (3 S05TF 58 S50 255G S0 S0B0 TS0 525.97 sq kms. DA 195665 92505 Ee 0 (EE30T0.
11 &2 QSO ¢ D570 BEED 50¢3 230650 FARS0S D0 &0, H2N Ferz0 & (roerdE TOAIS,
LOAS® SO, FPOEFO SO, BE 0D, VB0 SO ONBS ), &R BOGONS 5286y, 17 (€3, DED 8D BT
[ABI.

Options :

1. % 100050 1T e S5°(¢had

2. % I 308050 I € S5 add

3.9 10805 T e S5

4. % T 110805 111

Question Number : 107 Question Id : 630680313669 Is Question Mandatory : No Calculator : None Response Time : N.A Think
Time : N.A Minimum Instruction Time : 0
Correct Marks : 1 Wrong Marks : 0.33

Which of the following are CORRECT about Sri Venkateswara National Park and Sanctuary in Andhra Pradesh?

L. Sri Venkateswara National Park and Sanctuary is a wonderful abode for rare and endangered floral and faunal species which are
endemic only to Seshachalam hills in the whole world.

II. The total area of Sri Venkateswara Wildlife Sanctuary is 525.97 sq kms and it is declared as Sanctuary in 1956.

II1. This serene forest is brimming with a rich in faunal diversity like Cycas beddomei, the living fossil is endemic to this region, Shorea
robusta, Santalum album, Red sanders, Sterculia urens, East Indian cork screw tree, Ficus religiosa, etc.

Options :

1. ¥ Only [ and I
2. % Only I and 111
3. % Only I and III
4. % 1,11 and IIT

Question Number : 108 Question Id : 630680313670 Is Question Mandatory : No Calculator : None Response Time : N.A Think
Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0.33
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Options :

1. ¥ I-a, II-b, Ill-c
2. % I-b, Il-c, IlI-a
3. % I-c, II-b, Il-a
4. ® I-b, II-a, Ill-c

Question Number : 108 Question Id : 630680313670 Is Question Mandatory : No Calculator : None Response Time : N.A Think
Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0.33

Options :

1. ¢ I-a, II-b, lll-c
2. % I-b, II-c, I1l-a
3. % I-c, II-b, II-a
4. % b, [I-a, ll-c

Question Number : 109 Question Id : 630680313671 Is Question Mandatory : No Calculator : None Response Time : N.A Think
Time : N.A Minimum Instruction Time : 0
Correct Marks : 1 Wrong Marks : 0.33

2014 SO(SHNTT IS S5IVEBE S5O (DB IPGTerE BOOMPEL) SEH0S e30(BSIHTT TR0 o
DBVYS BIETS S0 0T 0H.
Options :

1. % 355,000 €D
2. % $5°.10,000 §eW
3. 85°.15,000 §ew
4. % $5°.20,000 §eD

Question Number : 109 Question Id : 630680313671 Is Question Mandatory : No Calculator : None Response Time : N.A Think
Time : N.A Minimum Instruction Time :

Correct Marks : 1 Wrong Marks : 0.33

The state of Andhra Pradesh faced with a revenue deficit of more than with Hyderabad going to Telangana as per the Andhra
Pradesh Re-organization Act of 2014.

Options :

1. ¥ Rs 5,000 crore
2. % Rs 10,000 crore
3. % Rs 15,000 crore
4. % Rs 20,000 crore

Question Number : 110 Question Id : 630680313672 Is Question Mandatory : No Calculator : None Response Time : N.A Think
Time : N.A Minimum Instruction Time : 0
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Correct Marks : 1 Wrong Marks : 0.33

What percentage of land will be earmarked for MSMEs in new industrial parks as per Andhra Pradesh industrial development policy
2023-27?

Options :
1. % 23%
2.9 33%
3. % 43%
4. % 53%

Question Number : 110 Question Id : 630680313672 Is Question Mandatory : No Calculator : None Response Time : N.A Think
Time : N.A Minimum Instruction Time : 0
Correct Marks : 1 Wrong Marks : 0.33

S0|BIDTT DBFHO ©ESHR D0 2023-27 (HSB0 'S HBF0© e MSMEE §00 D0eh 3°¢50 2570
Bero00I2BB0E?

Options :

1. % 23%

2.9 33%

3. % 43%

4. % 53%

Question Number : 111 Question Id : 630680313673 Is Question Mandatory : No Calculator : None Response Time : N.A Think
Time : N.A Minimum Instruction Time : 0
Correct Marks : 1 Wrong Marks : 0.33

SERNANS ROBVOZERR)) (AI), DA S 0N (ML), T @9 3DEIT ) O RS 29N TONB) ArOSedEde
S0P’ e(§(Fe3 (HBZFSOBIOE D5 WOBOIH0D Bga POOLBETE (D20 50 SOHNTTS' & ST
P-D0& IT JYETEL D3 DT §OATR), ABIF0oL?

Options :

1. % Bded

2. % Q2300a°¢

3. % e@9d0e5)B0

4. % B PJH) 0

Question Number : 111 Question Id : 630680313673 Is Question Mandatory : No Calculator : None Response Time : N.A Think
Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0.33

In which of these cities of Andhra Pradesh, the government is building a high-end IT skills university to focus on educating top talent in
the emerging fields of Artificial Intelligence (AI), Machine Learning (ML), Data Analytics, and other cutting-edge technologies?

Options :

1. # Tirupati

2. % Vijayawada

3. ¥ Anantapur

4. % Visakhapatnam

Question Number : 112 Question Id : 630680313674 Is Question Mandatory : No Calculator : None Response Time : N.A Think
Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0.33

According to NSS survey in 1998, (20.3 lakh ha.) of the Andhra Pradesh state’s geographical area is under Common Property
Resources (CPRs) which is lower than the country average figure of 15%.

Options :
1. % 5%
2.9 9%
3. % 10%
4. % 12%

Question Number : 112 Question Id : 630680313674 Is Question Mandatory : No Calculator : None Response Time : N.A Think
Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0.33

1998¢5° NSS OB § (D5°E0, @0o(SHTT 078 FHOE DAToS'D (203 ©F © TFT) 2P FGFS &R SISO
(CPRE0) 805 &OB, A T¥ Jifen QoS 15% F0T 80) I &GO .
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Options :
1. % 5%
2. % 9%
3. % 10%
4. % 12%

Question Number : 113 Question Id : 630680313675 Is Question Mandatory : No Calculator : None Response Time : N.A Think
Time : N.A Minimum Instruction Time : 0
Correct Marks : 1 Wrong Marks : 0.33

Q3)ed 37850 (A) HOAN 5°BI0 (R) @ 08303 (80 B0 (HEEIE) HODO0HOD) OB DOVER JOTHEFOR.
A: 0| B(DTT 255 HONL B (550 27O0R I DOOR) TIE0 1973 9RE 83358 1, 19758 @sen TOHDE0E.
R: OO SE5) ARTAE 200 D205 0T DBV .

Options :

1. % A DB R 0 BO® QAIEM™ e300 DO R 9 A BBEY DB Daddea

2. ¥ A B0 R @0 BOGYT AAJEAT D850, P R 9 A TBE), DB DB 5°¢0

3. % A D$50 5°Q R @90¢550

4. % A @050 5% R D50

Question Number : 113 Question Id : 630680313675 Is Question Mandatory : No Calculator : None Response Time : N.A Think
Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0.33

Select the option that is true regarding the following two statements labelled Assertion (A) and Reason (R).
A: The Andhra Pradesh Land Reforms (Ceiling on Agricultural Holdings) Act of 1973 was enforced on 1st January 1975.
R: The unit of application of ceiling was not more than five members.

Options :

1. #* Both A and R are individually true, and R is the correct explanation of A
2.+ Both A and R are individually true, but R is not the correct explanation of A
3. % Ais true but R is false

4. % Ais false but R is true

Question Number : 114 Question Id : 630680313676 Is Question Mandatory : No Calculator : None Response Time : N.A Think
Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0.33

QB)HE50 (A) OO 57390 (R) @ 0SB (80 B0 (DEEISE H0D0H0D) DB JONEXD OTHEOR.
A: 201765 HER A Fehed DHE0 OS>y, 208 6D 8528 SSPZoL.

R: 3069 D Fehed HHE0 ITE 55906 EYal 0O FTdd SC0e2d EOD0A.

Options :

1. ¥ A B0 R €0 BOG” AADEM Oeb50 SO R @9 A B8y OB DdBed

2. % A 805 R €0 BOKY AR Heb50, 5°0 R @9 A BBEY OB DdBed 5°¢d

3. % A D$50 5°Q R @99¢550

4. % A @050 55 R D50

Question Number : 114 Question Id : 630680313676 Is Question Mandatory : No Calculator : None Response Time : N.A Think
Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0.33

Select the option that is true regarding the following two statements labelled Assertion (A) and Reason (R).
A: Pattiseema Lift Irrigation Scheme was registered in Limca Book of Records in 2017.
R: Pattiseema Lift Irrigation Scheme integrated Krishna and Godavari rivers within a year time.

Options :

1. ¥ Both A and R are individually true, and R is the correct explanation of A

2. % Both A and R are individually true, but R is not the correct explanation of A
3. % Ais true but R is false

4. % Ais false but R is true

Question Number : 115 Question Id : 630680313677 Is Question Mandatory : No Calculator : None Response Time : N.A Think
Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0.33

Integrated Wasteland Development Programme (IWDP) was introduced in Andhra Pradesh during with 100% Central assistance.
Options :
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1. % 1982
2. % 1985
3. % 1989
4.+ 1992

Question Number : 115 Question Id : 630680313677 Is Question Mandatory : No Calculator : None Response Time : N.A Think
Time : N.A Minimum Instruction Time : 0
Correct Marks : 1 Wrong Marks : 0.33

DB 20023850 25 ©9ESYE SE5EX00 (IWDP) 100% O[5 DFOHOS 000906 eo(HHBTS’
ST DELDR08.

Options :

1. % 1982

2. % 1985

3. % 1989

4.9 1992

Question Number : 116 Question Id : 630680313678 Is Question Mandatory : No Calculator : None Response Time : N.A Think
Time : N.A Minimum Instruction Time : 0
Correct Marks : 1 Wrong Marks : 0.33

QB)ed 37850 (A) HOAN 5250 (R) @ HE0NDEAS (80 BO (DEEIIOH H02200D DTN D0DER DoHFoR.
A: 202265 ‘23 DR’ @9a3) HOAN B, 2.4 §E) |Fer )PS0 0[BT DA0A 7o Hevedd oo
DRHIR0A.

R: @3 5069, 3320 0O Ko 55§57 528 58e70re DBFIE.E D000 &redsdd DR ON 7°p
Ed8)0db.

Options :

1. % A 00050 R €0 BOE® QAR Oeb50 08O R 9 A BBE) OB ddded

2. % A SO0 R @0 BOGT AAJET D850, P R 9 A TBE), DB D5Bed 5°C0

3. % ADS50 52 R @90e550

4. % A @050 5% R D50

Question Number : 116 Question Id : 630680313678 Is Question Mandatory : No Calculator : None Response Time : N.A Think
Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0.33

Select the option that is true regarding the following two statements labelled Assertion (A) and Reason (R).

A: The mining department works of Andhra Pradesh was appreciated by the Centre with the ‘Khanija Vikas’ award and Rs 2.4 crore
incentive in 2022.

R: The Mining department showed best practices regarding exploration, auctioning and monitoring of mining activities.

Options :

1.+ Both A and R are individually true, and R is the correct explanation of A

2. # Both A and R are individually true, but R is not the correct explanation of A
3. # Ais true but R is false

4. % Ais false but R is true

Question Number : 117 Question Id : 630680313679 Is Question Mandatory : No Calculator : None Response Time : N.A Think
Time : N.A Minimum Instruction Time : 0
Correct Marks : 1 Wrong Marks : 0.33

806 ¢35 e0(INTT 057N 0 HBO0D) DB (DD IE?

Options :

1. % 0| Q0BT DD 385 59O SHS050 TRONE FEHIDAINB X0 §00(E3 Jebeeh S0 30579
0O BrroLodDR0A.

2. % e0(PITTS’ 308 598, DENDE FTHIBEI0, DO BN O Fedese ) e2IHB0 TAHETE
OGO (B HBE0TT DATNOA.

3. % @0(BINTT 6308 @DIHE 0O &0, 2018 (TS0 SO. 21 &9 2018) 237 7, 2018 0B 950N’ &od

4. ¢ 80858598 00BOS’ 6 D23Pex TR DV HePX0S0T DB $OOITRE HF AN ST o0

Question Number : 117 Question Id : 630680313679 Is Question Mandatory : No Calculator : None Response Time : N.A Think
Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0.33

Which of the following statement is INCORRECT about Andhra Pradesh Economic Development Board?
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Options :

1. % The Economic Development Board has been conceived under the leadership of Honorable Chief Minister, to accelerate the inclusive
economic growth of Andhra Pradesh.

2. % The board acts as a catalyst to facilitate economic growth, investment climate, reforms, and competitiveness in Andhra Pradesh.
3. # Andhra Pradesh Economic Development Board Act, 2018 (Act no. 21 of 2018) has been in force since June 7, 2018
4.+ 6 divisions of the Economic Development Board help it to effectively discharge its Duties

Question Number : 118 Question Id : 630680313680 Is Question Mandatory : No Calculator : None Response Time : N.A Think
Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0.33

Options :

1. % 1-a, II-c, IlI-b
2. % Ib, Il-c, IlI-a
3. ¥ I-c, II-b, IlI-a
4. % I-b, II-a, Ill-c

Question Number : 118 Question Id : 630680313680 Is Question Mandatory : No Calculator : None Response Time : N.A Think
Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0.33

Options :

1. ¥ I-a, Il-c, ITI-b
2. % I-b, Il-c, I1l-a
3. % I-c, II-b, Ill-a
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4. ® 1-b, Il-a, Ill-c

Question Number : 119 Question Id : 630680313681 Is Question Mandatory : No Calculator : None Response Time : N.A Think
Time : N.A Minimum Instruction Time : 0
Correct Marks : 1 Wrong Marks : 0.33

Identify the CORRECT statements with regards to Industrial Development and policy in AP 2020-23?

1. The policy emphasized on the setting up of 30 skill development centers.

2. The policy focused on setting up 2 skill development universities and one among them would provide high end Artificial Intelligence,
Robotics, Virtual Reality, Industry 4.0, etc.

3. The policy proposed that the Government of AP tie up with international agencies to provide immersion programs for meritocratic
students in key thrust areas like electronics, pharma, food technology, leather technology, etc.

Options :

1. # Only 1 and 2
2. % Only 2 and 3
3. % Only I and 3
4. % 1,2and 3

Question Number : 119 Question Id : 630680313681 Is Question Mandatory : No Calculator : None Response Time : N.A Think
Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0.33

AP 2020-2365° 8|08 @8)59R BN D8 H0220H0D DB (DEES H8050&?

1. 30 IDET°EDNSE BOTTO DT )END &8 DGO S8 TDYOR.

2. 88 QX0 2 BYETSD SR DI LT SOOI DT YN AN S9a) DE0E HBASW ¢3S 2.8¢3 3 Jo&
S0DACHS ROBORS ), BT, 503 BASTOES, QOB 4.0, SNIBS °¢3 ©0BNOR.

3. QOITIEY, 072, HE BS) 28, B0 By 028 INSBS S8 oo OE5°¢3E D serdd RS
ISP OEOIETIE AP 925065 S0 90SHT° B0 DB IOS 235ELFO &t DTX0 (DBFEODOE.

Options :

1. % 10805 2 e Srbadd

2. % 2 300050 3 e S(ehadd

3. % 1 0005 3 @0 S(ehad

4.9 1,2 00605 3

Question Number : 120 Question Id : 630680313682 Is Question Mandatory : No Calculator : None Response Time : N.A Think
Time : N.A Minimum Instruction Time : 0
Correct Marks : 1 Wrong Marks : 0.33

806 e3¢5 0(GHINTBTSQ 3T ($A57e 180D DBID E/Q?

1. SO(PITTS’Q ST (FO5Te 2017-18 0B 2021-22 HSE0 DTEES 33,730 §E SO ST TF0W.
2. 208} DBONTCES R 2017-18 S0BAKN 2021-22 © 5 B, 272 T SPe ST How.

3.2019-2065° SHIBE TPy &, 2.3 € 7250 SO,

Options :

1. ¥ 1 08050 2 e S7°(ehad

2. % 2 08050 3 @0 7o

3. % 1 00050 3 e S(ehadd

4.% 1,2 558050 3

Question Number : 120 Question Id : 630680313682 Is Question Mandatory : No Calculator : None Response Time : N.A Think
Time : N.A Minimum Instruction Time : 0
Correct Marks : 1 Wrong Marks : 0.33

Which of the following statements about the airports in Andhra Pradesh is/are CORRECT?

1. Airports in Andhra Pradesh register Rs 730 crore losses in five years from 2017-18 to 2021-22.
2. Vijayawada alone posted 272 crore losses between 2017-18 and 2021-22.

3. Tirupati got nearly 2.3 crore profit in 2019-20.

Options :

1. % Only 1 and 2
2. % Only 2 and 3
3. % Only 1 and 3
4. % 1,2and3

Question Number : 121 Question Id : 630680313683 Is Question Mandatory : No Calculator : None Response Time : N.A Think
Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0.33
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Study the following information and answer the question:

There are 3200 employees in a company working in departments HR, Marketing and IT. 20 % of the total number of employees work in
HR department out of which 80 % are females. 45% of the total number of employees work in the Marketing department out of which 648
are females. Remaining employees work in IT department in which the ratio of males and females is 3 : 2.

The number of male employees in Marketing department is what percent less than the total number of female employees in HR and IT
department?

Options :

1. % 16.8%
2.9 17.5%
3. % 195%
4. % 212%

Question Number : 121 Question Id : 630680313683 Is Question Mandatory : No Calculator : None Response Time : N.A Think
Time : N.A Minimum Instruction Time : 0
Correct Marks : 1 Wrong Marks : 0.33

808 JXrTPTR)), ©EFANN0 T (D930 DTG0 RS S0&:

2,8 80D’ 3200 5008 &EsthHen IPS@B, 338308, 03 DermS” HATRDT) K. B0 &EHO Do’ 20%
08 T8 DerBoeS DATNT®Y K, S’ 80% D0 TSN, DVB0 &SNS oS’ 45% D0 S8y e300
D20 HATAT®YLE, FOC 648 HOE SFFE. WAOS &EstHEN ¢35 DerrfoeS” HATRT) S, RO’
HERE DO (O QAR 3 : 2.

2538 DO 50¢3 Do’ BNB0 NPT &S 5HO 0T S8y E30A D2FHOS R HEA &E5HO HOoWS DO
350 580357

Options :

1. % 16.8%

2.9 175 %

3. % 19.5%

4.%212%

Question Number : 122 Question Id : 630680313684 Is Question Mandatory : No Calculator : None Response Time : N.A Think
Time : N.A Minimum Instruction Time :

Correct Marks : 1 Wrong Marks : 0.33

Options :

1. % 14.48
2. % 14.56
3.9 15.84
4. % 15.96

Question Number : 122 Question Id : 630680313684 Is Question Mandatory : No Calculator : None Response Time : N.A Think
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Time : N.A Minimum Instruction Time : 0
Correct Marks : 1 Wrong Marks : 0.33

Options :
1. % 14.48
2. % 14.56
3.¥ 1584
4. % 15,96

Question Number : 123 Question Id : 630680313685 Is Question Mandatory : No Calculator : None Response Time : N.A Think
Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0.33

Options :
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1. % a—1,b—2,c—3,d—4
2.% a3 b—ol,c—4,d—2
3. % a3 ,b—>2,c—3,d—4
4. % 352 b—l,c—>3,d—4

Question Number : 123 Question Id : 630680313685 Is Question Mandatory : No Calculator : None Response Time : N.A Think
Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0.33

Options :

1. ¥ a—1,b—2,c—3,d—4
2.% a—3 ,b—1,c—4,d—>2
3. % a3 ,b—>2,c—3,d—4
4. % 352 b—o1,c—3,d—4

Question Number : 124 Question Id : 630680313686 Is Question Mandatory : No Calculator : None Response Time : N.A Think
Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0.33
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Options :

1. ¥ 1-C,2—-D,3-5B,4—-A
2. % 15D ,2-C,3—A,4-B
3.% |-B,2—A,3-C,4-D
4. ¥ 1-C,2—A,3—-D,4—B

Question Number : 124 Question Id : 630680313686 Is Question Mandatory : No Calculator : None Response Time : N.A Think
Time : N.A Minimum Instruction Time :

Correct Marks : 1 Wrong Marks : 0.33

Options :

1. ¥ 1-C,2-D,3-B,4-A
2. % 15D ,2—C,3—>A,4-B
3.% 1-B,2—5A,3-C,4-D
4. ¥ 1—-C,2—A,3—D,4—B

Question Number : 125 Question Id : 630680313687 Is Question Mandatory : No Calculator : None Response Time : N.A Think
Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0.33
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Options :

1. % 182 %
2. % 20.5%
3.9222%
4. % 225%

Question Number : 125 Question Id : 630680313687 Is Question Mandatory : No Calculator : None Response Time : N.A Think
Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0.33

Options :

1. % 182 %
2. % 205%
3.9222%
4. % 22.5%

Question Number : 126 Question Id : 630680313688 Is Question Mandatory : No Calculator : None Response Time : N.A Think
Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0.33
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Options :
1. %2019
2. % 2020
3. % 2021
4. % 2022

Question Number : 126 Question Id : 630680313688 Is Question Mandatory : No Calculator : None Response Time : N.A Think
Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0.33

Options :
1. ¥ 2019
2. % 2020
3. % 2021
4. % 2022

Question Number : 127 Question Id : 630680313689 Is Question Mandatory : No Calculator : None Response Time : N.A Think
Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0.33
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Options :

1. % 1.84 %
2.9 1.94%
3.% 212 %
4. % 222%

Question Number : 127 Question Id : 630680313689 Is Question Mandatory : No Calculator : None Response Time : N.A Think
Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0.33

Options :

1. % 1.84 %
2.9 1.94%
3.% 212 %
4. % 222%

Question Number : 128 Question Id : 630680313690 Is Question Mandatory : No Calculator : None Response Time : N.A Think
Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0.33
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Options :
1. % 12%
2. % 15%
3.9 16 %
4. % 18%

Question Number : 128 Question Id : 630680313690 Is Question Mandatory : No Calculator : None Response Time : N.A Think
Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0.33

Options :
1. % 12%
2. % 15%
3.9 16 %
4. % 18%

Question Number : 129 Question Id : 630680313691 Is Question Mandatory : No Calculator : None Response Time : N.A Think
Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0.33
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Options :
1. % (a)
2. % (b)
3.% (0
4. (d)

Question Number : 129 Question Id : 630680313691 Is Question Mandatory : No Calculator : None Response Time : N.A Think
Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0.33

Options :
1. % (a)
2. % (b)
3. % (0)
4.9 (d)

Question Number : 130 Question Id : 630680313692 Is Question Mandatory : No Calculator : None Response Time : N.A Think
Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0.33

The range of the data:

35, 38, 70, 48, 34, 42, 55,75, 46, 65, is
Options :

1. % 39

2. % 40

3.9 41

4. % 42

Question Number : 130 Question Id : 630680313692 Is Question Mandatory : No Calculator : None Response Time : N.A Think
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Time : N.A Minimum Instruction Time : 0
Correct Marks : 1 Wrong Marks : 0.33
ST 0% I

35,38, 70, 48, 34, 42, 55, 75, 46, 65, 93
Options :

1. % 39

2. % 40

3.9¥ 4]

4, % 42

Question Number : 131 Question Id : 630680313693 Is Question Mandatory : No Calculator : None Response Time : N.A Think
Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0.33

Options :
1. ¥ (a)
2.% (b)
3. % (o)
4. % (d)

Question Number : 131 Question Id : 630680313693 Is Question Mandatory : No Calculator : None Response Time : N.A Think
Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0.33

Options :
1. ¥ (a)
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2. % (b)
3.% (o)
4.% (@)

Question Number : 132 Question Id : 630680313694 Is Question Mandatory : No Calculator : None Response Time : N.A Think
Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0.33

Options :
1. #® (a)
2.% (b)
3. % (o)
4.9 (d)

Question Number : 132 Question Id : 630680313694 Is Question Mandatory : No Calculator : None Response Time : N.A Think
Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0.33

Options :
1. % (a)
2. % (b)
3.% (o)
4.% (d)

Question Number : 133 Question Id : 630680313695 Is Question Mandatory : No Calculator : None Response Time : N.A Think
Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0.33
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Options :

L #* (@)= (2), (0)— ), = O, (D (e)
2.% (@D, ) (g), (©— h), (D) (e)
3% @), )~ D, -0, @ ()
4.9 ()= (2), (0)— (D), ()= (h), (D)— (e)

Question Number : 133 Question Id : 630680313695 Is Question Mandatory : No Calculator : None Response Time : N.A Think
Time : N.A Minimum Instruction Time :

Correct Marks : 1 Wrong Marks : 0.33

Options :

L. % (@)= (), (b)— (h), ()= (D), (D)— ()
2.% (= (H, ()= (2), (©— (h), (D ()
3.% (@)= (e), ()~ B, ()~ (), (d)— (g
4.9 (2)— (g), (b)— (), (©)— (h), (d)— (e)

Question Number : 134 Question Id : 630680313696 Is Question Mandatory : No Calculator : None Response Time : N.A Think
Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0.33

Options :
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1. %7
2.¥°8
3.% 10
4. % 11

Question Number : 134 Question Id : 630680313696 Is Question Mandatory : No Calculator : None Response Time : N.A Think
Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0.33

Options :
1. %7
2.%8
3. %10
4. % 11

Question Number : 135 Question Id : 630680313697 Is Question Mandatory : No Calculator : None Response Time : N.A Think
Time : N.A Minimum Instruction Time : 0
Correct Marks : 1 Wrong Marks : 0.33

s5th and

The arithmetic mean of 42 numbers is 65. The arithmetic mean of first 16 numbers is 55.5 and that of last 28 numbers is 70. If 1
16" numbers from the beginning are excluded, then what is the arithmetic mean of the remaining numbers?

Options :

1. % 63.8

2. % 645

3. % 649

4.9 653

Question Number : 135 Question Id : 630680313697 Is Question Mandatory : No Calculator : None Response Time : N.A Think
Time : N.A Minimum Instruction Time :
Correct Marks : 1 Wrong Marks : 0.33

42 05> 05KeIs DHEX 65. VLS 16 DOPLE €90FKeIed IR 55.5 DOAN DI 28 SO 5> e0FNeeh Sijew 70.
(PS030 0B 1555 sHBA5N 1665 DO SIFON R, MAOS DoMWL 0K HHEEN JOchH?

Options :

1. % 63.8

2. % 645

3. % 649

4.4 653

Question Number : 136 Question Id : 630680313698 Is Question Mandatory : No Calculator : None Response Time : N.A Think
Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0.33
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Options :
1. ¥ i-Y, ii-Z, iii-X
2. % 1Y, ii-X, iii-Z
3. % i-Z,1i-Y, iii-X
4. % -7, ii-X, iii-Y

Question Number : 136 Question Id : 630680313698 Is Question Mandatory : No Calculator : None Response Time : N.A Think
Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0.33

Options :

1. ¥ i-Y, ii-Z, iii-X
2. % 1Y, ii-X, iii-Z
3. ® i-Z, ii-Y, iii-X
4. % i-7Z,ii-X, iii-Y

Question Number : 137 Question Id : 630680313699 Is Question Mandatory : No Calculator : None Response Time : N.A Think
Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0.33

1IFEISE (A) DA (B)S® @9 50BS DSITTTTR), DBHEI0D) 537¢3 e3GBOM &) HDESHITSHM(@0) DBSE (S
QBon0B0&.

BDEES2:

(A)A, B, C, D, E, F S08050 G ©F0 030 D0 BNEENT BSOSO Sniner o8 30 §2388)8 5°e) )
DHEE ) 0. A TBEY DEZ. S0ADN 5Z G 8 HOE. &OB. F B3nE) HOE A HEE B0 $E 003D 5000 &oenod.
(B) B HOE 5B0areh 88 93 E DB, 0. D B3wg)y HOE HIEar30 822 &0&. D A3y HEE B By H8E.50

S8 £33 N0 EOLNOA. C HT® 565 S0MHOE X755 HEE e ™) om.

DY gSdrren

(i) F 80 080 HOY, &od.

(ii) B 0 %030 HBE. &od.

Options :

1. ¥ (i) ST OBDIA

2. % (iii) S5 OBID

3. % (i) B (ii) BOLY OB

4. % (1) 2 B (i) 5°Q DA IBIA 5°¢0

Question Number : 137 Question Id : 630680313699 Is Question Mandatory : No Calculator : None Response Time : N.A Think
Time : N.A Minimum Instruction Time : 0
Correct Marks : 1 Wrong Marks : 0.33

Consider the information given in the statements (A) and (B) and decide which of the conclucion/s is/are correct on the basis of the
statements.

Statements:
(A) Each of A, B, C, D, E, F and G has an exam on a different day of a week starting from Monday and ending on Sunday of the same

week. G’s exam is immediately after A’s exam. F’s exam is immediately before A’s exam.
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(B) E’s exam is immediately after B. D’s exam is on Friday. D’s exam is immediately before B’s exam. Only three persons have exams
after C

Conclusions:
(i) F has the exam on Monday.
(ii) B has the exam on Thursday.

Options :

1. % Only (i) is correct

2. % Only (iii) is correct

3. # Both (i) and (ii) are correct

4. % Neither (i) nor (ii) is correct

Question Number : 138 Question Id : 630680313700 Is Question Mandatory : No Calculator : None Response Time : N.A Think
Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0.33

BO (DEEISEN RS 5B, o3¢S ST 565 T HBA50 I HOWFEIS BOER DB IR Qe SRTOW. (DEEISEN PGSO
BOVS FRATOS DZIENS) LW EID0DEDIE3E a7e3Q DehHANO 2PNOD), a3°¢3 0B &850 N80T

DB IR0 (€)ed AQONOH0E.

2D¥e83:
® AN YED HES 5°.
TROORE® A V.

DB $3:

L o T OYS 5°¢%.

1L 0SB A )EE THew.

Options :

1. % 1 S3°(933) @O0

2. % 1 35765330 @O0

3. ¢ 108050 I BOET® €90 O8I 0N

4. % 150 B 1570 DA @90080THE

Question Number : 138 Question Id : 630680313700 Is Question Mandatory : No Calculator : None Response Time : N.A Think
Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0.33

Two statements are given, followed by two conclusions numbered I and II. Assuming the statements to be true, even if they seem to be at
variance with commonly known facts, decide which of the conclusions logically follow(s) from the statements.

Statements:
No inspector is a surgeon.
All chefs are inspectors.

Conclusions:
I. No chef'is a surgeon.
II. Some inspectors are chefs.

Options :

1. % Only I follows

2. % Only II follows

3. % Both I and II follow
4. % Neither I nor II follow

Question Number : 139 Question Id : 630680313701 Is Question Mandatory : No Calculator : None Response Time : N.A Think
Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0.33

&3 10%)° §) 105D, €3 ST 5e5 A OO B 9 BO DB SSTTE0 Q9 STON. (HELIE’ 95 5223
DTG0 SETEOMT OB IE/ DTS DS 5 X0() DOTNEOR.

EISILARE

i.H=T=R

ii. R>K>L

iii. M<L<E.

DB gSoren:
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A.K>H
B.R>M

Options :

1. % A S Qb0

2. ¥ B 3555 debso

3. % A 08050 B Bochr Oeb50

4. % A B0 B BOKT Oed5ad0en 506

Question Number : 139 Question Id : 630680313701 Is Question Mandatory : No Calculator : None Response Time : N.A Think
Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0.33
In this question certain statements are followed by two conclusions A and B. Select the conclusion/s which is/are true based on the
information given in the statements.

Statements:
i.H=T=R
ii.R>K>L
. M<L<E.

Conclusions:
A.K>H
B.R>M

Options :

1. # Only A is true

2. % Only B is true

3. ¥ Both A and B are true

4. % Both A and B are NOT true

Question Number : 140 Question Id : 630680313702 Is Question Mandatory : No Calculator : None Response Time : N.A Think
Time : N.A Minimum Instruction Time : 0
Correct Marks : 1 Wrong Marks : 0.33

80& (363¢5° (%), HA (M) 258 TR HQY DoHEod.

PEO-44, NBK-52, LYG-79, JVC-143, HSY-268, ?
Options :

1. # FQU-480

2. % FPV-482

3. ¥ FPU-484

4. % FPU-480

Question Number : 140 Question Id : 630680313702 Is Question Mandatory : No Calculator : None Response Time : N.A Think
Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0.33

Select the term that will replace the question mark (?) in the following series.

PEO-44, NBK-52, LYG-79, JVC-143, HSY-268, ?
Options :

1. ¥ FQU-480

2. % FPV-482

3. ¥ FPU-484

4. % FPU-480

Question Number : 141 Question Id : 630680313703 Is Question Mandatory : No Calculator : None Response Time : N.A Think
Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0.33

Refer to the following number series and answer the question.

(Left)3479436752389574637293475735732875489758973573957956784274275 8(Right)

How many 7’s in the above string are immediately followed and preceded by an odd number? (Consider counting from left to right only)
Options :
1. % Five
2. ¥ Six
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3. % Seven
4. ® Eight

Question Number : 141 Question Id : 630680313703 Is Question Mandatory : No Calculator : None Response Time : N.A Think
Time : N.A Minimum Instruction Time : 0
Correct Marks : 1 Wrong Marks : 0.33

8080 9507 (B 295000 TR (DF) 80 S0 9 50B.
(QC@S&))34794367523895746372934757357328754897589735739579567842742758(@&)

2 @85S 300D OO’ B DO EOR €Y 7e0 I Eao*) 0N ? (8D O H0BE S5 B0
DBKHF0N0H)

Options :
1. % 220
2. ¥ &%
3. % QB
4. % JANE

Question Number : 142 Question Id : 630680313704 Is Question Mandatory : No Calculator : None Response Time : N.A Think
Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0.33

Options :

1. #® i-X, ii-Y, iii-W
2. % i-Y, ii-X, iii-W
3.9 12, 1i-W, dii-X
4. ® i-W, ii-Y, iii-X

Question Number : 142 Question Id : 630680313704 Is Question Mandatory : No Calculator : None Response Time : N.A Think
Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0.33

Options :

1. ¥ i-X, ii-Y, iii-W
2. % 1Y, ii-X, iii-W
3.9 1Y, 11-W, dii-X
4. % i-W, ii-Y, iii-X
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Question Number : 143 Question Id : 630680313705 Is Question Mandatory : No Calculator : None Response Time : N.A Think
Time : N.A Minimum Instruction Time : 0
Correct Marks : 1 Wrong Marks : 0.33

[0C¢3 €98 B-H0T%0 BOCHS €8 8- DeTTOS, @9eTT s07°¢heS @8 & HeNTEP0 €S €98 8- HeNTeTFO Der
D005, EOR ) T3 @98 DO ¢35 €8 8- Do H0057) AR &) DONEX DoTHE0A.

MTND :: EOUN : FNYW :: XZOG: CVLR : ?
Options :

1. ¥ SMWB

2. % TNWE

3. % SNXD

4. ¥ SMWD

Question Number : 143 Question Id : 630680313705 Is Question Mandatory : No Calculator : None Response Time : N.A Think
Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0.33
Select the option that is related to the fifth letter cluster in the same way as the second letter cluster is related to the first letter cluster and
the fourth letter cluster is related to the Third letter cluster.

MTND : : EOUN: FNYW :: XZOG : CVLR : ?
Options :

1. ¥ SMWB

2. % TNWE

3. % SNXD

4. ¥ SMWD

Question Number : 144 Question Id : 630680313706 Is Question Mandatory : No Calculator : None Response Time : N.A Think
Time : N.A Minimum Instruction Time :
Correct Marks : 1 Wrong Marks : 0.33

1932, @D IS D000 EOATNX)E3 00T DR &) DAISAT). HRITO 0B JotHEod.

YAK : DFP : IKU
Options :

1. ¥ DUG : I1ZK : NEQ
2. % FIN : KNS : OSX
3. % ROY : WTD : IXB
4. ¥ FOR : KTW : PYB

Question Number : 144 Question Id : 630680313706 Is Question Mandatory : No Calculator : None Response Time : N.A Think
Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0.33

Select the letter cluster triad in which the letters clusters have the same relationship as in the letter cluster triad given below.

YAK : DFP : IKU
Options :

1. ¥ DUG : IZK : NEQ
2. % FIN : KNS : OSX
3. ¥ ROY : WTD : IXB
4. ¥ FOR : KTW : PYB

Question Number : 145 Question Id : 630680313707 Is Question Mandatory : No Calculator : None Response Time : N.A Think
Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0.33

Three of the following four letter-clusters are alike in a certain manner and one is different. Find the odd one out.

Options :

1. ¥ DHLPT

2. % FINRV

3. ¥ WAEKM

4. # YCGKO
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Question Number : 145 Question Id : 630680313707 Is Question Mandatory : No Calculator : None Response Time : N.A Think
Time : N.A Minimum Instruction Time : 0
Correct Marks : 1 Wrong Marks : 0.33

808 TN @F B3-S’ ek
&) N800k,

Options :

1. % DHLPT

2. % FINRV

3.+ WAEKM

4. % YCGKO

D DPBES’ 2.Ber GO BT 2,8E3 S) 0 G0N0, DS orr

[~}

Question Number : 146 Question Id : 630680313708 Is Question Mandatory : No Calculator : None Response Time : N.A Think
Time : N.A Minimum Instruction Time : 0
Correct Marks : 1 Wrong Marks : 0.33

808 PN €98 B-s0TT BSOS S0 208 AR DB’ 2,Ber GOLTON DO 2,5¢3 d) OTF GOLNOE.
D)0 &3 ), 1H80B0&K.

Options :

1. % FIRST : JGSUT

2. % COUNT : PDVUO

3. % RINSE : JSOFT

4.+ LUCID : VMEKJ

Question Number : 146 Question Id : 630680313708 Is Question Mandatory : No Calculator : None Response Time : N.A Think
Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0.33

Three of the following four letter-cluster pairs are alike in a certain manner and one is different. Find the odd one out.

Options :

1. # FIRST : JGSUT

2. % COUNT : PDVUO

3. # RINSE : JSOFT

4. % LUCID : VMEKJ

Question Number : 147 Question Id : 630680313709 Is Question Mandatory : No Calculator : None Response Time : N.A Think
Time : N.A Minimum Instruction Time : 0
Correct Marks : 1 Wrong Marks : 0.33

80& 3635°Q 109, () () Q Howg 258 TRo&?

21, 38, 65, 102, 149, ?
Options :
1. % 196
2. % 206
3. % 216
4. % 226

Question Number : 147 Question Id : 630680313709 Is Question Mandatory : No Calculator : None Response Time : N.A Think
Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0.33

Which number will replace the question mark (?) in the following series?

21, 38, 65, 102, 149, ?
Options :
1. % 196
2.9 206
3. % 216
4. % 226

Question Number : 148 Question Id : 630680313710 Is Question Mandatory : No Calculator : None Response Time : N.A Think
Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0.33
Which number will replace the question mark (?) in the following series?
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15, 16, 34, 105, 424, ?
Options :

1. ¥ 848

2. % 1696

3.9 2125

4. % 2450

Question Number : 148 Question Id : 630680313710 Is Question Mandatory : No Calculator : None Response Time : N.A Think
Time : N.A Minimum Instruction Time : 0
Correct Marks : 1 Wrong Marks : 0.33

808 (3e3¢5°Q (5%, ) (M) O Howds 258 Bod?

15, 16, 34, 105, 424, ?
Options :

1. ¥ 848

2. % 1696

3.9 2125

4. % 2450

Question Number : 149 Question Id : 630680313711 Is Question Mandatory : No Calculator : None Response Time : N.A Think
Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0.33

Options :

2. %

Question Number : 149 Question Id : 630680313711 Is Question Mandatory : No Calculator : None Response Time : N.A Think
Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0.33

Options :

1. ®

2. %

Question Number : 150 Question Id : 630680313712 Is Question Mandatory : No Calculator : None Response Time : N.A Think
Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0.33
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Options :
1. % 28%
2. % 33%
3.9 37%
4. % 40%

Question Number : 150 Question Id : 630680313712 Is Question Mandatory : No Calculator : None Response Time : N.A Think
Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0.33

Options :
1. % 28%
2. % 33%
3.9 37%
4. % 40%

https://g06.tcsion.com/CAE/viewHtmIPDFAction.action 74/74





